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1. ¥R fem Suen SR FIRT WHetH! SIven Sara e sfiem 1R ?

(1) oS! o Sg dar () v sfr =gE™ (FAMR) da1

@) = anfor stfimifrent dan (4) T@H! S FAF o

Which of the following services have a long history dating back to the early years of East
India Company ?

(1) Civil and Medical Services (2) Agriculture and Business Services

(3) Forest and Engineering Services (4) Civil and Techniqual Services

2. SHHESHH AT o HEUR (0T qure Wrer Hiv ?
(1) SRR (2) ST
(3) foigs wa @) Froof afad
Which is the most powerful instrument of legislative control and executive
management ? '
(1) Budget (2) Audit
(3) Casting Vote (4) Watchdog Committee

3. Traeum smivm= yfrwslt fawa sraden faamist e & :
(a) WARREEET @ FHIO.
(b) TSI T&THT AT QoI
(c) SHEERT= faevw Ea ia: AiEesis qu.
(d) TR e L@ IR e,
Tt 3
(1) (a) 3 (c) (2)  (a) SO (b) (3)  (b) 3 (d) (4)  (a) S (d)

Select one of the following statements which is not co-related to the role of Election
Commission :

(a) To chart out the Constituencies

(b) To give recognition to political parties

(c) To give permission to candidates about the expenses in the Election
(d) To monitor and control the elections in the country

Answer Options :

(1) (a) and (o) (2) (a)and (b) (3 (b)and (d) (4) (a) and (d)
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4. Feefysrrsn ysdeal adis Sea e ¢

(@)
(b)
(c)

(d)

eyt 71 fNeemfocer ge Friert sfysrt o
fSeaifrert fe.om fe.u, =1 wRiwR gues AR

fe.am.fe.u. & foree wioe siqria oe ; fSeefusmmars
qftrenT 31y

FHEATIFHR hRiwH Tafauanite feat ! i
TEqYl 3.

it W

(1)
(2)
(3)
(4)

@@ (® (@ (@
(@ @) (v) (i)
(i) @) @@ @)
(i) @) @)
(iv) () @) @)

Match the following about the role of District Collector :

(a)
(b)
(c)
(d)

District Collector is Chief Executive officer of ZP
District Collector is Executive Director of DRDA
DRDA is under ZP; Less role of Collector

The Collector plays very crucial role in the
execution of walfare programmes

Answer Options :

(1)
(2)
&)
4

@ ® () @
@ @ Gv) ()
(i) @ @ @)
() (@) (@) @
Gv) (i) @) (@)

()

(ii)
(ii)
(iv)

(@) TS
(ii) SR (nfem)
(iii) 3Ty w_W

(iv) TR

Rajasthan
Orissa (Odisha)
Andhra Pradesh

Maharashtra
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T TR0
I STeR{ETR
FifkreRder smuTRa
iftfRdat e
feRTHeT S

i) S

1)
(2)
(3)
4)

@@ () (9 ()
@ @Gv) () (i)
(v) @ (i) (@)
(@) @) @) (i)
(i) (v) @) @

Match the following :

(2)
(b)
(©)
(d)

Classification of Party
Regional aspirations
Ethnic considerations
Religious base

Personality based

Answer Options :

1)
(2)
()
(4)

@@ () () (4
@ @Gv) @) (i)
(v) (@) (i) (i)
@) @) @ @)
(i (v) @ (@

(i)
(ii)
(iv)

TO2

wefvre ug
ot srehTedt <o
| 7o aikeg
LA S BRI S

gfae AT HeuH

Regional Party
Shiromani Akali Dal
Assam Gan Parished

Rashtriya Janata Dal
Dravid Munetra Kadgham
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6. IV UfHe 2012 WEA ST 3-FRIGN AR FS TS 3R ?
(1) = gt T, 10 SrEmeT s TR,
(2) A=A AToshiET S Yan Siftek amEn SR
(3) ST Ukl I U&T SfHeE S SR,
(4) SF=N growET 10 TR G s S TR
For whom in April 2012 has e-filing of income tax returns been made compulsory ?
(1) Those having income above Rs. 10 lakhs.
(2) Those owing two or more cars.
(3) Those owning two or more houses.
(4) Those owning more than 10 hectares of land.
7. UEH GV UM HOH 12 JqTd THR JES B O HRGT 2002 TR GISTauh!
VT e A FS R ?
(1) =fheren Ffer=rg (2) orfvreret Sufeerd
(3) HE Wl A HV (4) oI el gaE
What is abligatory as per the Amendment Act 2002 while filing complaint under section
12 of the Consumer Protection Act ?
(1) Arguments by Advocate (2) Appearance of Parties
(3) Payment of Court Fee (4) Oral Evidence by Parties
8. Sl SRS HAGHL Uil WA deried FUTAT HeHid Hed €d ?

"= e Jehear ST Feted] TSAHee fa=al STaaerT IR gredHl =i %4, 36, fawm
aTfor catea wfkqet=n awt ffve wvar Hemcis Kot T ax ot ST SeEeRIi St
T SRS

(1) YA T (2) HifF FEFN AEB™ SAUHR

(B) T g v T 4) ST amEm

In what context has Dr. Babasaheb Ambedkar made the following statement :

“A state just awakened from freedom with its many preoccupations might be crushed
under the burden unless it was free to decide the order, the time, the place and the mode
of fulfilling them”.

(1) Fundamental Rights (2) Powers of the Union Executive
(3) Directive Principles of State Policy (4) Planning Commission

HoAT HIMTESI WM /SPACE FOR ROUGH WORK
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9. SYfad Sl N YA SN (STENR yfddy) Sifafam 1989 TUR faviv ¥R a&io
U fgaft HRa1 Tie B fFAM T9a T IEIowH STavas TR 7

(1) 5ad 2 7ad (3) 103 (4) SSURT AR

An advocate to be appointed as special public prosecutor under Scheduled Castes and
Scheduled Tribes (prevention of atrocities) Act 1989 must have practised as an advocate
for not less than o

(1) 5 years (2) 7 years (3) 10 years (4) None of the above

10. faem (A) : WA= Tl € SIS AT FREEH TE R
HUT (R) : 3 4 Toi Wal= W@ .
I
(1) (A) S0 (R) SR &R 3TRA. (R) 7 (A) 9 SRR STLIHT[ .
2) (A) 3T (R) AT SRR 3TRT T0T (R) § (A) 2 SR IR T1E,
(B) (A) T M AR, (R) ¥ 9% Q.
@) (A)T TP B, (R) & TR ML
Statement (A) : The President of India is the executive head of Federal Government.
Reason (R):  He is the Supreme Commander of the defence forces.
(1) (A) and (R) are true (R) is the correct explanation of (A)
(2) (A)and (R) are true, but (R) is not the expianation of (A)
(3) (A)is true but (R) is false

(4) (A)is false, (R) is true
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11. | 1 3707 11 Foe@ ard 3= fas &4
e e el Fasumine AR Tl 7aie) «

qAr -1 g - 10
(T I |l ) ( SUART Il W=t gIiar)
(2) ‘A = WETR i (i)  5,00,000 %.
(b) ‘A’ T TR ufteg (i)  3,00,000 %.
(c) fSemufme - (iii) 3,00,000 %.
(d) d=rEd gfeet (iv) 2,00,000 %.
e Giedasd ara W e

@@ (b)) (o (@
L O @ @) (@)
(2) @) @) @) (@)
@) v ) @ 0
@ O @) @)
Arrange List ‘I’ and List “II’ to choose appropriate answer. Candidates limits for
expenditure in the election to Local self Govt. are :

List I List IT

(Local Self Government) (Limit of expenditure)
(a) ‘A’ type of Municipal Corporation (i) Rs. 5,00,000
(b) ‘A’ type of Municipal Council (i) Rs. 3,00,000
(c) Zilla Parishad (i) Rs. 3,00,000
(d) Panchayat Samiti (iv) Rs. 2,00,000

Choose appropriate answer using following code :
@@ () (9 (@

L @ @ @) )

(2) (@) @) @Gv) @

3) Gv) @) @ @

4 O Gv) @) @)

12. 9=ER ey afufamme won 6 TR diva wean aofacesn Tarn geaams fagy
=t ford! hTe@TET qETeaTEAT FI&ET e YIRd % ek ?
(1) U A (2) @ afe
(3) ¥l Afe=anuen s THS@ (4) UH Uiy S AEeel
In case of any conviction in a summary trial under section 6 of the Prevention of Corruption
Act, what sentence of imprisonment can be passed by the Special Judge ?

(1) One Month (2) Three Months
(3) Not less than Six months (4) Not exceeding one year
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13. TIUTe AU HE Hl WeiGih! R fUM gehre oTR ?
@) U Y I gafas a9 ®, THUERE HESS U] 31 STHE,
(b) WIS A T ST HAMN Sl i Freredid TeAd=el Geomdad e,
€ oo foErt T A gufas e & Erd=e e 9 397 e T fae

FHIOIH H,
T IW
(1) (a) B 2) (b) %K
(3) () ® (4) @ Tt THE L

Which of the following statements regarding appointment of Governor is incorrect ?

(a) Nath Pai suggested that the appointment should be subject to the approval of
Parliament

(b) The Setalvad study team was of the view that the Chief Minister should be consulted

(c) A.B. Vaipayee suggested that the panel of names should be placed before the Chief
Minister to select one of them.

Answer Options :
(1) (a) only (2) (b) only
(3) (c) only (4) None of the above

14. SFHANA FYfUd S 9 ATYFaa T AR S TG SATATHGHTT 10Tl TSATHT
A TG AR ?
(1) Fde AEHH R
(2) Hd@ A d HIGIEHRA
3) e = TR
4) TS FHE S A

Seats are reserved in the House of the People for Scheduled Castes and Scheduled Tribes
but there is a separate provision for :

(1) Assam only

(2) Jammu and Kashmir only

(3) Both Assam and Jammu and Kashmir
(4) Neither of the above
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15. WP dEi=n o= F.
(a) TSR W& WEIA T &R IR A 3@l .
(b) YIE W W AERAT TR,
(c) YuE &&F 15 FWale We T FHrA-ad (functional) WIERAR 37
(d) SEETF ST qo Aafoes FrRiwHER sfud W 0 ¥ vesfee R,
Fiw FvE! faam aler o ?
(1) (a) S0 (b) (2)  (b) 3o (c) 3) (o) mfor(d) 4) (a) ST (c)
Consider the following :
(a) National Literacy Minion has been recast as Sakshar Bharat.

(b) The Prime focus is on Adult Literacy.

(¢) The Principal target is to impart functional literacy to the adults above the age group
of 15.

(d) The auxiliary target is to lay more emphasis on basic education programmes than
on vocational programmes.

Which of the above are correct ?
(1) (a)and (b) (2) (b) and (c) (3) (9 and (d) (4) (a) and (o)

16. UL BF =1 (F¥F0 Ho< HIE=A) ISHUTAT S el SRERTET Thiad R dar qdan
(wwages fetma gt wlia) 7 qa1 ¥ow (Wfedy faownm a) dar fas de@men difgs
TAHAL e (hfayrg AfreR) st B 30 Wy T (@I a6l Aavasd TR ¢
(1) XN 8E A9 C @

(2) f&HM B Tl

(3) ifaremes a nftrareg veat
(4) A ghEd 60% O
TS RV A9 TR AT ?

NCC graduates are exempted from appearing in the Combined Defence Service
Examination of the UPSC and are selected as regular commissioned officers on the basis
of SSB interviews only. However they ought to have :

(1) NCC ‘C’ Certificate

(2) Minimum B grading

(3) Graduation with Physics and Maths
(4) 60% marks in graduation

Which one of the above is incorrect ?

HOAT HIUTETS ST /SPACE FOR ROUGH WORK
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17. = faum am=n 9 dgE i e
(@) 1976 WE=IT T TRAGERIGN HagR WoiE! YA 2001 =01 STV deghe F0am

3T

(b) URFEEA SRR 2003 & Fyiftg oA ol AR Seiaed 2004 W= QRIS
[REEL AR )

Tt 3

1) <= faum e TR
) faum (a) TH MR
(¢) faum (b) = IR
@) 2rd foum sRer aTRa ST (b) 7 (a) =1 TR TR

Read the statements and select the correct option :

(a) A Constitutional Amendment in 1976 suspended the constituency boundary revisions
until 2001 census.

(b) The 2004 General Elections took place in constituencies drawn by Delimitation
Commission in 2003.

Answer options :

(1) Both the statements are incorrect
(2) Statement (a) is incorrect

(3) Statement (b) is incorrect

(4) Both the statements are correct and (b) is the consequence of (a)

18. ‘' I AT HIVIIE] aTEad TR fee A, Jur 31! e 2 Sfgena anfor yfawes 0 o1,
TSI TS 376 10T TGOS ?

(1) UE AT 6% (2) . ErERY agH

(3) ®.TH TR0 (4) SN TSE 99T

“We did not give him any real powers, but we made his position one of the authority and
dignity”.

Who said this about the position of President of India ?

(1) Pandit Jawaharlal Nehru (2) Dr. Babasaheb Ambedkar

(3) KM. Munshi (4) Dr. Rajendra Prasad

HeAT HHTHG WM /SPACE FOR ROUGH WORK
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19. IR} HHIS - 1 A HE - 11 7 S0 HA i wiel feeien waiare slie) gishfaenie
fas %0 :
R T | et . - 11
(a) Tz =i aq@ () EITRT T STHRHHIT WIS | HewT=
TEITHS dYA B0
(b) TH FEE (i) wiHEeER afavar gy,
(c) =@ (ili) PIUATE! HETEHS THeTed HUK
(d) aREwT=T yeE (iv) Taf¥re FEmer YurRTel #d oqe FI0AE 91T Ireu.

(v) drifRd o Sranifed 999

@ () ( (@
1 @ @ (@) ()
2 @ G @) ()
@) @) @) @@ O
4) () (@) @ @)

Match List - I with List - II and select the correct code given below :
List - I List - II

(a) Censure Motion (i) To draw the attention of the House to a matter of
public importance that has arisen suddenly.

(b) Adjonrnment Motion (ii) An expression of want of confidence in ministry.

(c) Resolution (iii) To cut short the discussion on any matter.
(d) Closure Motion (iv) House is made to declare an opinion on a particular
matter.

(v) Starred and un-starred questions.

Codes :

(@ () (@@ ()
Q) G @ @) ()
@ @ @) @) (v)
@) ) Gv) @) ()
4) (v) (@) @) ()

HTAT HIATEIS WRM /SPACE FOR ROUGH WORK
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20. foeR friem afid= somr &1 % ?
(a) TIERIER TIR Hoedl e ThiAH HIOL.
(b) TRUATSHIGR TIR HOTAT ASHIS THI AR HIU,
() AT TR HUATES Y St RaRT 9 SRSt 39,
) Tcefusrl FrafeagR TR Soe FEsE e Fo,

i W
(1)- %= (a) (2) (a) Sufor (b)
3) (a) (b) 3 (c) @ (), () (o) nfoT (d)

Why was the District Planning Committee constituted ?

(a) To consolidate the plans prepared by Panchayats

(b) To consolidate the plans prepared by Municipalities

(c) To provide frame work to Panchayats and Municipalities for preparation of plans
(d) Evaluation of planning made by Collectors office

Answer Options :

(1) only (a) (2) (a) and (b)

(3) (), (b) and (¢) (4) (), (), (©) and (d)

21. IFY HYA/HA G,
(a) TERTE Ul SETTH W= HIAHIS Tl Tl 3Tl
(b) RN SIhyd A=A HiFaTa FHEHE T aurdl STHal.
TR IW
(1) H (a) SR, (b) TH
(2) YA (a) I, (b) TSN
(3) H (a) T (b) TG TR
4) H (a) T (b) I THA
Select the correct sentence/sentences.
(@) The tenure of member of Maharashtra Public Service Commission is of 6 years.
(b) The tenure of Secretary of the Maharashtra Public Service Commission is of 5 years.
Answer Options :
(1) Sentence (a) is correct, (b) is incorrect
(2) Sentence (a) is incorrect, (b) is correct

(3) Both sentence (a) and (b) are correct
(4) Both sentence (a) and (b) are incorrect
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22, WO@UH! KV TEE YRAT AT FHEA FHoH 123  TA= wEmsdi=n e’ snanfia
3R ?
(1) el s wén (2) SIS T WA Hhig ga
(3) foasi AW (4) Sou vrgfore Y o=
Indian Evidence Act, sec. 123; Evidence as to affairs of state is based on which maxim ?
(1) Audi alteram partem (2) Nemo judex in propria causa sua
(3) Vis major (4) Salius populist supreme lex

23. wde faum @
(a) WRRTETSA fqum Qe THU-SIFm=t H&T 2021 = STTFUHAR JEo0! SIS,
(b) HET TS S Folld TeH TaaRG e SEdTd S 20% o1 ¥ieh (AaE= 4@l )

3T TR,
g iy e .
(1) (a) S 3 ) (b) SRR &R

B)  (a) 3T (b) A= R AR (4)  (a) 3T (b) = SIS T
Consider the following statements :

(a) The total number of seats in Maharashtra Legislative Assembly will be changed
after the 2021 Census.

(b) There can be a difference of maximum 20% in the number of voters of the biggest
and smallest constituencies.

Choose the correct option :
(1) (a)is true ) (2) (b)is true

(3) Both (a) and (b) are true (4) Both (a) and (b) are false

HeAT HETETS ST /SPACE FOR ROUGH WORK
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e feen SteTeert ! At Ao o

(a) A fafadseremR & T=amE! 9d ORETa 79 qiiged

(b) HIoTaTE! T IreATe fofa fhen dRonfaeg Sio steen AaeH (fadiHeen) w0 aTifim
.

(c) ehisriz=a Sawhia wAMEA Hade U T edio Sewudd § wadq e S 2.

(d) wHAHE®E 99 USH §oT FEihddl GrHfgnin SeegR TEdr.

waE IW®

(1) (a) AT (b) (2)  (b) T (d) @) (@) (b) T () (4) (d) ®

The “Principle of collective Responsibility” means :

(@) The Cabinet Ministers voice the same opinion before the state legislature

(b) Inno case is a minister expected to speak against the Government decision or policy

(c) In the cabinet meetings, they can differ from each other but any public exposure of

these differences is considered undesirable
(d) All the members of the council of ministers are collectively not responsible for all the

acts
Answer Options :
() @and®) () ®Gand@ () (@) (b and (4) (@) only

25.. 1992 =T FUMIG TIIIR UL ITHEAE AN’ STeIaEA™h BUA SVl it
U™ W= feat ?

(a) ufeew (b) fave o awE

(c) Sadg @) feaadig

Flots! wivR faur/faum ster a2

(1) %98 (a) (2) (b) () @) (@), O AT () 4) (a) (b))

Under provisions of the Act of 1992 which religious commumtles have been recognised as
minorities by the National Minority Commission :

(a) Muslims (b) Christens and Parsis

() Jain and Buddhists (d) Sikhs and Buddhists

Which of the statement given above is/are correct ?

(1) Only (a) 2 ®and(© (@) (@ (b)and(c) (4 (a) (b)and(d)
26. Hieal doRIM ST, 2000 HIVN TS e AT For AR ?

(1) wfedt qram 2) IOFRITE FAHS! FER T 0

(3) TR R 4) =fe wd

With which following object the Information Technology Act, 2000 has been enacted ?
(1) To provide information

(2) To provide legal recognition for electronic commerce

(3) To provide technology

(4) All the above

HoeAT RIUTATS! T /SPACE FOR ROUGH WORK

P.T.O.



TO2 16 A

27. TEFAS AT SHHA SV TATd GE HRUAT St ?
(a) TSTEYTH S7IfoT qeay waw
(b) RN YT qfv=d ST
(c) T YT Tiywew
(d) sTrguRe i U

T W

1) () % 2 @G @) (@ wR (4) () = (b)
The Panchayati Raj form of local self Government was adopted by the States in which
order ?

(a) Rajasthan and Madhya Pradesh

(b) Maharashtra and West Bengal

(¢) Rajasthan and Andhra Pradesh

(d) Andhra Pradesh and Rajasthan

Answer Options :

(1) (a) only 2 ®and(@d () () only (4) (a) and (b)

28. @ faurET foem 1 :
SRETVT AT TS HEAAT B FSH A AT ST
(a) YRATAT FHGSLE HEHYA T. 2 BrENen e me e
(b) <110 Yeq Sifersk Ul fAaTiaqd JsFR <.
() TRAM50% sirerd! @ &1 g WEATAT W2 §7 TS TYA g,
et B fuT R o ? |
(1) (a) T (b) (2)  (b) 30 (c) (3) (a) 3 (c) @) (@) (b) ()
Consider the following statements :
The scheme of reservation is being extended to voluntary agencies which :
(a) Receive grant of Rs 2 lakhs and above from the Consolidated Fund of India.

(b) Employ more than 10 persons on a regular basis

(c) Atleast 50% of its recurring expenditure is met from grants in-aid form ‘Central
Govt'.

Which of the above statements are correct ?

(1) (a) and (b) (2) (b)and (o) (3) (2 and (9 4) (@), (b) and (c)

THeeAT SHTATETS WHT /SPACE FOR ROUGH WORK
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29. Sgfd Wt 9 Efad St (TR yfdey) AfufEm 1989 &1 foviy FMIQ1 &1 Ho™
TUTH T ?

(a) TEHIBH AFR] FoRh WXET0T TTUfTam 1955 QX1 ared Tegdl U,
(b) YA ST Wiga=n Fada TEg! TROHERE ded Teaedl |

o oF fauridie s 99 o8 ?
(1) W (a) ST (b) G ) w (b) 3T (a) &t
(3)  (a) 3T (b) < (4) T@FT(D)

Why was the Special Act-The Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Act 1989 brought into force ?

(a) The then existing law the Protection of Civil Rights, Act 1955 had proved to be
inadequate

(b) The normal provisions of the Indian Penal Code were not adequate enough
Which of the above two statements is/are correct ?

(1) Only (a) and not (b) (2) Only (b) and not (a)

(3) Both (a) and (b) (4) Neither (a) nor (b)

30. YR %R faum @ oe ?

(1) THRI YU e TIEHY S0 SI=[ ATmE Iqaydde v fa s
[UGH

(2) UM HETE ST TR TS <3 Iehall,

(3) TSIRIAT IF YA TgHAH TR ST STEH STHHTIATS L FHTl 4.
@) 39l 3Ua Aieva™ e =ter faawi=t A et .
Which of the following statements is incorrect ?

(1) Deputy chairman of the council of states shall vacate his office if he ceases to be a
member of the Council

(2) Deputy Chairman may resign from his office any time

(3) Deputy Chairman may be removed from his office by a resolution of the council
passed only by two thirds majority of the council.

(4) Atleast a fourteen days notice has to be given before moving the afoicsaid resolution

HoAT RIS AT /SPACE FOR ROUGH WORK

P.T.O.



TO2

18 A

31. SEviHSEE FeEHe Hew faum s
(a) Traifea enfn frgea e oroam.
(b) Fraifea ve= & F&T 91T FHam.
(c) Traifaa 7 Frgs aewi=t ver are! T4,
(d) fraifas 9@ AmYA TEE Iy B fag .
Tt R |
(1) () AT (b) (2) () e (d) F
(3)  (a) (b) T (o) @) (@ (b), (o) S (d)
Find out the correct alternatives regarding the Members of Cantonment Boards :
(@) There are nominated members and elected members
(b) Elected members are in minority
(¢) The nominated and elected members are not equal in number
(d) The elected members elect from among themselves one Vice-President
Answer Options :
(1) (a) and (b) (2)  (¢) and (d)
(3)  (a) (b) and () 4)  (a), (b), () and (d)
32, 9EfFE FAITYRR AW Hoed] WIoie el a7 Hershd Heel

1) fads, smfi, e, fres
Q) fadE, frge, e, yRa
@) frags, smfE, faed, Ta
4) g, fem, sifem, fade

As for introducing Universal Adult Franchise, choose the correct chronological order of
countries :

(1) New Zealand, U.S.A., UK, Finland
(2) New Zealand, Finland, U.S.A., India
(3) Finland, US.A., UK, India

(4) France, UK, US.A. New Zealand
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33. VRN TAW TS B FHHES T& FOAMER! e

(1) 30 9= FEEd (2) framen Sd W& STHEd

(3) 10 W& FEEd (4) 29 93& FEEA

To start the proceedings of the lower house of the state of Maharashtra the lower house
should have :

(1) 30 members (2) members more than half

(3) 10 members (4) 29 members

34. W U T T e e

(a) VISR FTEUAT Failed FAeaTe SUEHR Foe Jovd STUSRi= §TE e Hiel Geedqd
Toffe 3TRd A S ARIGATHS HIVATE! ATURRE T AN FTHER Sevare SAvs

R 3TRA.

(b) TEfeerdi=r MiyeR wai= e Faw THA IR F1G Ihd W IH AESd ST
3TIQYT AT SEYA! hlg, Wehd.

T W

1) faum (a) 9@ R 71 (b) THIF AR.
) faum (b) T T8 WA (a) THIT ATe.
@) o faum W oA,

4) < faum s sTRa.

Read the statements given below and select the correct option.

(a) The writ jurisdiction of the Supreme Court extends only to cases of violation of
fundamental rights while High Courts enjoy wider powers and can issue writs in
cases of breach of any right.

(b) While the Supreme Court can issue the writ of habeus corpus only against the state
while High Court can issue it against private individuals.

(1) Statement (a) is true but (b) is false
(2) Statement (b) is true but (a) is false
(3) Both the statements are true
(4) Both the statements are false
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35. €Y SHAAT ST HIT' (SAMPERA) A6 Téh Yhed HE Hal MR, S TS o1 3R :
(a) iSten wifEdrEt SFTEH B
(b) WANGAH! TgH SR (ATl
(c) Y IHGARTE BT wfasrdt Snfor gwaer T e Sty e,
(d) vioETo/RedT of 1S JES T HES S,

LEIRIRC

(1 ®) (o) (d) 2 (@ (b))

(3) (@), (b), W (o) @) (@), ) () 3 (d)

The UPSC have recently undertaken a project called ‘'SAMPERA’, the benefits of which
are :

(a) High speed scanning of data

(b) Accurate and faster generation of Admit Cards,

(c) Attendance lists with photo replica and signature facsimile of each candidate,
(d) Cases of impersonation/malpractices will also be eliminated

Answer Options :

1) (), (o) (d) 2)  (a), (b), (d)
(3) (a), (b), and (c) (4) (a), (b), (c) and (d)

36. WRANY TF TEAde WESTaR Yifies qoqd Fam SN WIeGuh! Sl qaqal geed
R ?

(a) i YOVA &Rk @ TRAT MRS ITHR] I,
(b) wfifes sreromel Hefya snfe, fadia TR F@ W9 901 FEUER TEE 7T T6.
(c) HEaIT weurr &g wififer Hel ¥ YRA TR GO hed vl gl Id el

EZGIRCEC
(d) FOT 4RV FO H @ ¥ T q" GHA0I A5
(1) (b)(d) (2) (), (b), (), (d)
3) (@), () (© (4) HURE T

In the context of right to freedom of religion which of the following provisions are

constitutionally tenable under Indian Constitution ?

(@) Right to freedom of religion can be enjoyed only by the citizen of India.

(b) State can make a law restricting any economic, financial or political activities
associated with the religious practices.

(c) State can make a law for throwing open Hindu religious institutions of public
character to all the Indian citizens.

(d) Carrying of kripan shall be deemed to be professing of a Sikh religion under

Constitution.
1 (), (d) (2) (a) (), (9, (d)
(3) (), (b), (0 (4) None is tenable
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37. ULTH T 9 Too! QUAEe! T RAMIRYE 3T 9 ULYd! @& Feedi{aR S8 IR 9rsdm,
T
(a) T HIRERY Heeamal WTaR I | T9hd TR,
(b) AR T et S F1 AEEd Hae Watd AT AH € .

() UL G MW T ST 9 HEEIal Fioad! T sivangs! & Fasus
wefaeara d fraga s Hifyg Bguda @ w3 B[ g e

Whﬁi:
1) (a) @ (b) 9 2 (a)F () a3
(3) (b)d(c) AT @) = ey

. There is a council of Ministers to aid and advice the President who, in the exercise of his
functions acts in accordance with such advice, however :

(@) The President can not ask the Council of Ministers to reconsider such advice

(b) The question whether any advice was tendered by the Council of Ministers to the
President can be enquired into only by the Supreme court

(c) If a member of the Parliament gets disqualified to be a member and he contests
election before the expiry of the term of his office he can remain as a Minister until
he is declared elected.

Answer Options :
(1) (a) and (b) are correct (2) (a) and (c) are correct

(3) (b) and (c) are correct (4) None is correct

38. ITY(ad S, STIgfad A (STemeR iaay) Afuf@Em 1989 TaR fadm =mared T Fvam
g w2

(1) d TR frar (2) SYE A
(3) iy gAEwh (4) frafra gaEeh

What is the object of establishment of a special court under the Scheduled Castes and
Scheduled Tribes (Prevention of Atrocities) Act, 1989 ?

(1) Prompt redressal (2) Remedy
(3) Speedy trial (4) Regular trial
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39. freeus smrmer et 9 f:ue fasue Svam a1 a9 oiRq :

(a) TTHROMS TR

(b) v gEAIE

(c) oTeREfEdE FqTaSTEvR

(d) TSRt ga Yesh, fofeerat yaromt g9l

A qAig e

(1) ¥93 (a) 2 F9@ (b) (3)  (a) M (b) 4)  (a), (b) ()
Election Commission faces following difficulties in conducting free and fair Elections :
(a) Criminalization of Politics

(b) Intra - Party dictatorship

(c) Implementation of code of conduct

(d) Opportunity to political parties for broadcasting on Radio, Television

Choose the correct alternatives :

(1) only (a) (2) only (b) (3) (a) and (b) (4)  (a), (b) and (d)

40. SRy HASUH! Wie AT SFUR T Wy AGEHTA THREET [0 HIvE! a6
JEYaS &l ?

(a) o ST RETET ARG g9l
(b) o ST AR ST Tehl.
(c) < =it 7ATAT fersheifeniiar STUTH Fehl.

i
(1) e (a) (2) &K (b)
(3) Ww () (4) Sl THE AR

Elections to the House of the People are on the basis of adult suffiage however so as to
have the right to vote what is not essential ?

(@) The person has to be a citizen of India
(b) The person should not have been disqualified for non residence

(c) The person should not have been disqualified for unsoundness of mind

Options :
(1)  Only (a) (2)  Only (b)
(3) Only (c) (4) None of the above
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41, YRdE Sfaymdie Tsss 371 ™ il ?
(1) <9 a9 FRAR mEa fogiy aqE
(2) HIB IR-YE AR Oy T
() freae teEe TSR iEr faRy @
(4) fafag Tiwiar oy aaE
What does Article 371 of the Indian Constitution provide for ?
(1) It provides special provision for Jammu and Kashmir
2) It provides special provisions for only the North East Sector

(
(3) Tt provides special provision for the state of Hyderabad alone
(4) It provides special provisions for the various states

42, TOGIH! HUQ/HOE faum/T SE TR/ 3T ?
(a) SAFTETE YRATA ARG HISUa AagAel I STHdle.
(b) 3TN SHFN TRANSG HIVAE! HAGREE A1 Aigg Iha.
(c) TOGR RUH g avAThdl 3T K A JAETEE 376 Hel e,
T I
(1) §d faum (2) IR AR () WH (a) (4) (a) ST (b)
Which of the following statements is/are true ?
(@) A non-resident Indian citizen is eligible to vote in elections.
(b) Such person can be enrolled as a voter in any constituency in India.

(c) To get registered as a voter the person has to apply to the Indian embassy.

Answer Options :
(1) All statements (2) None (3) Only (@) (4) (a)and (b)

43, faum (A) : YRR TTEAAT 368 AT FOHTIER HEAGEI=1 Yihan TUg HI0AT S TR,
THIUT (R) : TR ToHEAq HeAgewdr=a1 fafay wgdt Wifiaedn 3eq.
Tt W
(1) (A) Wfor (R) SRR TRA. (R) B (A) = ST TIRIHI L.
(2) (A) A (R) IR AR, (R) B (A) T TR TR
(3) (A) SR . (R) IF .
4) (R) IR AR, (A) I 3.
Statement (A) : The amendment procedure in India has been provided in article 368 of
the Constitution.
Reason (R) : There are multiple methods of Constitutional amendment in India.
Answer options :
(1) (A) and (R) is correct. (R) is the correct explanation of (A)
(2) (A) and (R) is correct. (R) is not the correct explanation of (A)
(3) (A)is correct. (R) is false
(4) (R)is correct (A) is false
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44. fTafay Joerfie deis fawmm! g we fast ot ?
(a) ufgedn 1 AT T SR I .
(b) UiEed U AR TEE IR STD T,
(c) =itean e SRR g Jumiara Seremer ST et
(d) TR 9 FaAT AT I Feqe e SR SXfae! Aot
(e) AT AMSHIRT T SN SR St NS
(f) TS ARSI T QAT AR St St
(g) Tirea ASIRE T Wawd IeeeR SIS NS
(h) fEean AR W SR SOeAe] SUae! T
T W
1) (), (d), ) 2) @, (e G) (@ (8 4) (b

How were the growth targets fixed for the various plans ?

(@) For the first three plans they were set with respect to National Income.
(b) For the five plans they were set with respect to National Income

(c) For the fourth plan it was the Net Domestic Product

(d) For the sixth and seventh plan it was the Net Domestic Product

(e) From fifth plan onwards it has been the Gross Domestic Product

(f)  From Eighth plan onwards it has been the Gross Domestic Product

(8) From Fourth plan onwards it has been the Gross Domestic Porduct
(h) All along it has been the Gross Domestic Product

Answer Options :

1) (b), (d), & 2 @, © @ G) @ (@) @ ()
45. mﬁmﬁau@mﬁ@wﬁﬁmmmwﬁgmﬁﬁquwmé
forgeedt .
TS T WSGIh! T IS TR HS 3R,
(1) & avEaUE = (2) &t goE gEst
(3) ARTH. W (4) 1 dLIAR. STdEH

“1f Governor is given freedom to exercise absolute discretion in every situation, the structure
of Indian Union will be scattered”.

Who made this statement in the context of authority of Governor ?
(1) Shri. Yashvantrao Chavan (2) Shri. Pranav Mukherjee
(3) R.S. Sarkaria (4) Dr. BR. Ambedkar

THTAT HIHTEIST SR /SPACE FOR ROUGH WORK




A 25 TO2
46. TR gE WV HIE, 1955 TR fOfiTe F@ ¥ 91 FREaR TR R € Eid eRvamE!
(1) ¥EE FF T AT 1 Hoo I,
(2) HIETE T FS IFTHS T 4T 3.
(3) TEC ¥Q FS I IR IR,
(4) i Y= T T,
In order to presume a particular act as an offence under the Protection of Civil Rights Act,
1955 :
(1) It must have been committed with the intention of untouchability
(2) Done with any intention
(3) Done with bad intention
(4) None of the above
47. o HERTHTS WAl TETE S99 ST el i T FeurS FeumEe! g4 -
(@) TTATIE WA B HL
by w__ iieige i
() #__ Tiefiee $vaene Uy Bl
Tt I
(1) Fa3 (a) (2) F9 (b)
(@)  (a) T (b) @) ¥4 (o)
A Minister for the Union while taking oath of office should ideally say :
(@) I do swear in the name of God that
oy 1 solemnly affirm that
() I _solemnly affirm in the name of God that
Answer Options :
(1)  Only (a) (2)  Only (b)
(3) Either (a) or (b) 4) Only (c)
48. IER NS Tamdat mifedt 0 ¥ T A< hded 3R,

(1) wifgatan SIfysr Afyf=Em, 2005
(2) T g X9 SAfufTEM, 1955
(3) v e sAfufrEm, 1923
(4) TSR FHroe L

It is the duty of every person to give information to police as to commission of offences
under .

(1) The Right to Information Act, 2005

(2) The Protection of Civil Rights Act, 1955

(3) The Official Secrets Act, 1923

(4) None of the Above
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49. & WHERHGT AT forerTaT=A] T T9 GG FHIOTAT SATKRTG g1 SHvrardl [EhR IeH
FAOIAM A4, G| TG hocdl Hal uiHg &l A=Al 7 g TR Sl HIvaw Il

(a) <A sifeearTd et

(b) ST

(c) W fSIeg

(d) of dfeAfern Sfamin
(e) oM wesHaTs

() it Tgw

T 2007 HEA SAGUH! RIVET TTERR ST TIEHIT DIV, THR qed, 3o &4 amad)
AT I ST,

1) () @ (d) @) (® (4) et R

Stree Shakti Puraskars are given in recognition of achievements by individual women in
the field of social development by the Government of India.

These awards, six in number, are given in the name of the following eminent women
personalities.

(a) Devi Ahilya Bai Holkar
(b) Kannagi

(¢) Mata ]ijabai

(d) Rani Gaidanliou Zeliang
(e) Rani Lakshmi Bai

() Rani Rudramma Devi

Which award was added in 2007 given for outstanding administrative skill, leadership
quality and courage ?

1) (b @) () @) ® (4) None of the above
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50. RAW T FfHdT=a SR Seets! S wgdt e e e 2
(a) T fhan sifusr T3 whfa Fea o et e s 4q.

(b) IV T&AT= TG AT AT TRl Hadid T fae Heam! ww wgadt eawas
3T,

(c) TIVKE o, HEIfAd TS0 UM TIad Ha A50.
(d) Hda T AR AG AETER g WEE, TEH T Sgel hewiad vewmrE ffHd we

NEXE
WHTB?&:
M © @ 2) (b)), (@) @ @, (4) (b) (d)

Which of the following constitutional provisions are not included in the Constitution in
respect of formation of a state in India ?

(@) New State can be formed by uniting two or more States

(b)  Explicit consent of the concerned legislature of the state is necessary for altering the
boundaries or the name of the state

(c) A state can be converted to a union territory

(d) Central Government can constitute a state or a union territory after obtaining the
opinion of the concerned government

Answer Options :

1) © @) (2) (b)) (d) 3 (@) (d) - @ () (d)

51. IV FIGEHT Geaten A1 Sgi-aa Tege fohen Fegl anfier Jre1 Tsifaean e ?
(@) 1966 - 1969 (b) 1990 - 1992 (c) 2000 - 2002
g 311'%?1 :
1) (a) anfor (b) 2) (a) 37 (c) (3)  (b) () 4)  (a), (b) 370 ()

During which periods the Five Year Planning was not effective or when were the Annual
Plans put to practise ?

(@ 1966 - 1969 (b) 1990 - 1992 (c) 2000 - 2002

The options are :

(1) (a) and (b) (2) (8 and (c) (3) (b)and (c) 4) (a) (b) and ()
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52. WIHIGIH! UK fau™ gH TR ?

(a) SO Yaar HEET : TER =W SOe @ Fasuemid ur SJvar ST S, At oies
TEER/ AMER BHads/fAureads a1 T%d 3 ) e anfaegs oo yeerd
IHS T

(b) IO Hele Waiwl FrATGETET HUid : 3T TSed oTHe i 3T WWER/ SR BV g
R

() IITET TSGR FI WOTA! : 376 S AW T THdIe.

(d) TEEHRW UL RUTAT : ST TS FaamTal AR TEON 718! Wy &A1 o 50 e,

(€) TTEHT U WU : WM T 71 A &6 WS A T e g I,

TR I

(D) (@) (o) (2) (d) = (e) (3) W (d) (4) HH (e)

Which statement amongst the following is incorrect ?

(a) Law prior to July : Sitting legislators could hold on to seats even if convicted for
crimes that would disquality them from contesting elections while their appeal was
pending.

(b) WhatSCruledin July: Sitting legislator convicted for such a crime to be immediately
disqualified and not continue as an MP, MLA pending appeal.

(c) What ordinance says : Sitting legislator so convicted would be allowed to continue
while an appeal is pending

(d) The ordinance further says : Sitting legislator so convicted wouldn’t be allowed to
vote but would be paid the salary

(e) The ordinance further says: Sitting legislator so convicted would neither be allowed

to vote nor would he be paid the salary

Answer options :

(1)

(a) and (c) (2) (d) and (e) (3) only(d) (4) only (e)
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53. @olo fagmEr f9aR &4 : (A i R)

faenT (A) : ST ST YA YA FH FHd A degl @il WAHAY A T A
Y I B .

HROT (R) : T THENY S48 WA Hasd IR WA THad A0 TR A Aa1-@19 =
STHATA.

QA ARy el Saus e %4

1) (A) =for (R) At T 3T (R) R (A) 3 TR HRT IR,

2) (A) 3f (R) S8t §F AR T (R) § (A) F IR HRT TTEL.

3) (A)¥d IR Y (R) T ITR.

4) (A) @R IR WY (R) ¥ IAR.

Consider the following statements (A and R)

Assertion (A) : Vice-President, when acts or discharges the functions of the President
does not get emoluments payable to the Chairman of Rajya Sabha.

Reason (R) : He does not perform the duties as a Chairman of Rajya Sabha and gets
the emoluments payable to the President.

Select your answer from the following alternatives :

(1) Both (A) and (R) are true and (R) is the correct reason for (A)
(2) Both (A) and (R) are true but (R) is not the correct reason for (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

54. Gigurren TR T WRAD gESTde SAsin FREE 15 SR 1947 JEiyAONE qEiets!
HTvre favmma e S e ?

(@) @ (b) R

(c) o & (d) T4 aR
Tt IW

M @, b3 2) (b, (©3F(d)
G) (@, (b)) (4) (a) () F(d)

Initially after the commencement of the Constitution appointment of members of the Anglo.
Indian Community were being made in which of the following departments as were being
done before 15" August 1947 ?

(@) Railways (b) Customs

(c) Income tax (d) Postal and Telegraph
Answer Options :

(1) (a) (b) and (c) (2) (b), (c) and (d)

(3 (a) (b)and (d) (4) (@) (c) and (d)
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55. YR |fau™ (afect URoT) FHER 1950 HEAEET R
(a) Wor 3T Afieadt W= AR 7o fey
(b) AR, 4] féhar T Aer sEa= Frerw
(c) owruvdte gfatfue iy 50 T
(d) Teiwfa Fta sfufaaeR @R 7q Fefavamae! woEH fuifa o T,
ARl I
(1) (a) ST (b) (2) (o) =T (d) (3)  (b) &I (c) 4)  (a) & ()
What did the Constitution (First Amendment) Act 1950 provide for ?
(@) Several new grounds of restrictions to the right to freedom of speech and expression
(b) Prescribing qualifications for carrying on trade, business or service
(c) Representation to the Lok Sabha was readjusted

(d) Time limit for the states to convey their views on the central laws

Answer Options :
(1) (a) and (b) (2)  (c) and (d) (3) (b)and (c) (4) (a) and (o)

56. ATl TSAUTSET THUE HITARIT SHRIAT SR Sivld fay gafae smd ?
(a) IS SAE O I TS Tt
(b) T AH TRERIS STHEL.
() t Hat Terwrome fovva: sifewssn F@| Haftta TamE!.
(d) < =i T TSRO Seeg Gefed STEm.

I SW®
(1) (a) 3T (b) (2) () 3 (o)
(3) (@) (b) 3 (c) @ () (b), () =0 (d)

What criteria have been suggested by Sarkaria Commission when a person is to be appointed
as Governor of the State ?

(@) He should be eminent in some walk of life
(b) He should be person from the outside the state

(c) He should be a person who has not taken part in politics generally and more
particularly in the recent past

(d) He should be intimately connected with the local politics
Answer options :

(1) (@) and (b) (2) (@ and (9

() (a), (b) and (0 ) (a), (b), () and (d)

HEAT HIWEIST WRT /SPACE FOR ROUGH WORK




A 31 TO2

57. @ faum e :
(a) Toeror § o= e yRfrerdte weed gt sfasd o,
(b) ¥ Terond THEHTAT W@l A Hg THR T SFTIEM <9,
(c) wfima foamdisi %% TR wg7 oTIeH fHeq 7.

i W ;
(1) () M (b) ST 3TRA. 2) (b) 3T (c) TR A
(3) (a) MM (c) TSR 3Mda 4) (a), (b) 3N (c) fagt =R s7RA

Consider the following statements :

(@) Education is in the concurrent list (7th Schedule of the Constitution)

(b) Centrally funded institutions are set up by union government to maintain uniformity
in higher education

(c) Deemed University is not a centrally funded institution

Answer Options :

(1) (a) and (b) are true (2) (b) and (c) are true
(3) (a) and (c) are true (4) all three are true
58. R g9 HeIul Afufam, 1955 HHie TR W@ HIvE TR 374 ?
(1) TESYH 9 ©Hd Jeavdl ardg 2) IRESIH
(3)  STHI HHEAIT SITATERG (4) STIHE FHAAT T SUAERY

Offences under Protection of Civil Rights Act, 1955 are of which type ?
(1) Cognizable and triable summarily (2) Non - Cognizable
(3) Compoundable (4) Non - Compoundable

59. ARG FYT/HeA SliEl
(a) RATeA HETOE! UReETE aaq whed ek Ko 9.
(b) T 3 wErRET Wfiars AT 62 = 9 JaTad B
T W

(1) T (a) TN, (b) THA

(2) YA (a) T, (b) T

(3) HH () T (b) AW TR

(4) HUT (a) T (b) IE THE

Select the correct sentence/sentences :

(@) The payment of Auditor General of India is made from the Consolidated Fund.
(b) Controller and Auditor General retires at the age of 62 years.
Answer Options :

(1) Sentence (a) is correct, (b) is incorrect

(2) Sentence (a) is incorrect, (b) is correct

(3) Both the sentences (a) and (b) are correct

(4) Both the sentences (a) and (b) are incorrect
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60. HECTAT HIHHSTAT HNETEd HIV fTH™ @Y AT ?
(a) TER FEN fEEIqH A@avam A,
(b) HERE HHeRS fEeIqT fohen SUSIqT wToavar a4
(c) Hiqumr=n yRHt daew Fwwews g foan Susiqa areadr a9 an.
(d) |WIHd/ ALY A ST G AU HIGHTHG. 90 FHE Il

a7y

(1) (a) (o) (2 (b) = (d) (3) e (b) (4) O (a)
Which of the statements about the language of transaction of business of the Parliament is
untrue ?

(a) Business in Parliament is transacted in Hindi
(b) Business in Parliament is transacted in Hindi or in English

(c) At the commencement of the Constitution the business in Parliament could be
transacted in Hindi or in English

(d) A member may express himself in his mother tongue with the permission of the

chairman/speaker
Options : ‘
(1) (@) and () (2) (b)and (d) (3) (b)only (4) (a) only

61. A FHYA/FHUA G,
(a) WWFRKIE Halyd QA H3ft A1 JeHAT St W <amd, 1ol ' TR I8’ UM
(b) TR yEETe T e S’ STE WS W
T W
(1) e (a) TR, (b) TH
(2) A (a) THY, (b) TN
(3) U (a) T (b) TR TAH
(4) U (a) T (b) TE TR
Select the correct sentence/sentences :

(a) When the minister of concerned department gives written answer in house, it is
called a ‘starred question’.

(b) Motion of adjournment is also called as motion of censure.
Answer Options :

(1) Sentence (a) is correct, (b) is incorrect

(2) Sentence (a) is incorrect, (b) is correct

(3) Both the sentences (a) and (b) are correct

(4) Both the sentences (a) and (b) are incorrect
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62. faum (A): IERATAIS DR TSTHT T87 TOTG TV HH FHdI.
FHRT (R) : feadaaia THAHI § TS e WA wewdr S AR,
Hich{oeh T4 :
(1) (A) 3T (R) T8 SR 3TRA MM (R) B (A) I IFT TILIE IR
(2) (A) T (R) = RIS 37 WG (R) ® (A) & I TR L.
(3) (A) RIS 3R U (R) T IR,
(4) (A)THD R 907 (R) AR HAR.
Assertion (A) : In Liberal democracy, political parties act as brokers.
Reason (R) :  Interest aggregation is the most important function of a political party
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not a correct explanation to (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
63. URAM BT Sffoltyey 2012 Wed 6 T fHesloedt,
QOIS P! foem aie i ?
() I Yeile FAR ~ 1
(b) I T A - T
© s A0 - e
(d) dwefHea WE EEe - i
(e) VX foro1d TR - HE
() WRARIT - HIE
ata T
(1) (b) T (e) (2) () o (f) @) (a) I (e) 4) (a) 3 (c)
India medal tally at London Olympics 2012 Stands at Six.
Which statement amongst the following is not correct ?
(a) Grappler Sushil Kumar - Silver
(b) Shooter Gagan Narang - Silver
(c) Boxer Mary Kom - Bronze
(d) Shutller Saina Nehwal - Bronze
(e) Shooter Vijay Kumar - Bronze
(f) Wrestler Yogerhwar Dutt - Bronze
Answer Options :
(1) (b)and (e) (2)  (b) and (f) (3) (a) and (e) (4) (a)and ()
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64. TFHHIHIA AAGR W TH QY U
(1) wasR enfor gfafet aieamed wfve deiy yeenfd 2% wohd "k
(2) WARR 7Yy yiafaeh aieamed ufe dey yefia 9 v
(3) TAF TN §HQd qATw yfafifue fHes.
(4) fafet frasrarigyld SR STosy Tafaieat Tater 34
One of the main defects of the single member constituencies is :
(1) Intimate relationship is not possible between the voter and the representative
(2) Intimate relationship is possible between the voter and the representative

(3) Every region gets adequate representation in the parliament

(4) Peoples choice regarding representative is narrowed

65. TITaRUl GR&yuT AfHTTaH, 1986 @1 [Eio STawrgd gRued fofa siqoesatt wvamsiar aika

EXURIG IS I
(1) fasin-sime 1985 ) f=-Te 1980
(3) wWiHsM-IA 1972 (4) —ATH-TLI 1982

Environment Protection Act 1986 was enacted to implement the decisions of following
international Conference :

(1) Bejing - August 1985 (2) Geneva - April 1980
(3) Stockholm - June 1972 (4) New York September 1982

66. WIHBIH! HIIER sHATTe Sl fafufaamg semgs fafufaym o/@ o ?

(1) ¥ 2) T fourvss

(3) “FHES (4) o0 THE T

The legislation promulgated by whom, is known as the Delegated legislation ?
(1) Parliament (2) State legislature .

(3) Judiciary ' (4) None of the above
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67. Qg faum aRE oTgw w fast

(a) HoEE SEAEEe frofa Jurt frmfusr afd § e TewerE! afid owR.

(b) TEATE FH@M Tod fafay Swad suainyd i e gaien w8 guer e
Hewar ifuer fagmfier aftdier o

i IW

(1) = faum 3T9F S (b) ¥ (a) =1 AW HRO TR,

) < faum sTgF R 7 AW FElel qaY Tal.

3) f%mm(a)aaﬁ-asa%.

@) (b) THA ST,

Read the statements and select the correct option :

(@) The Privileges Committee is an important body, deciding on issues of parhamentary
conduct.

(b) The Privileges Committee has the significant power to follow up matters arising
during question time and the various calling attention motions.

Answer options :

(1) Both the statements are true (b) is the reason for (a)

(2) Both the statements are true but there is no relationship between the two
(3) Statement (a) is incorrect

(4) Statement (b) is incorrect

68.

TS faum et
(a) Tsha i It Toreae Ao STEfEa s faeneaia HenyAeTE SrEe! SnftE
HEd 2.

(b) T e Tkt WS E AT THAUIR ST HeT 3T,

(c) HIMYCHE A TA.fhe A 9.0l 915l &l 93 Taho.

Tt Rt faam/ faum aRier o1 ?

1) @) 2 OIRE @) @I @ (@) 0
Consider the following statements :

(@) The Rajiv Gandhi National Fellowship scheme provides financial assistance to
scheduled caste students for pursuing research studies.

(b) The Human Resource Development Ministry is the nodal agency for implementing
the scheme.

(c) Research studies may lead to M.Phil and Ph.D.
Which of the above statements are true ?

(1) (a) and (b) (2) (b)and () (3) (a)and () (4) (@), (b)and (d)
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TTeeh GR&I0T AT 1986 BT TEIGUEH! DIV YHURON HI0IT ST 37T ?

(a) e HioE! fask! (TR Fardt T8) STARA AR T Tl He NS 3T,

(b) fafEET= FoH 4 9 7 A SIfRET wEvETSn Geuid TEAN “shall” &St WEAM
“may” 3T FHRT.

Tt S
(1) (a) FS VS SR 9V (b) E (2) (b) S NS MR I (a) TTET
B) T@FT(b) @ @)=

Which one of the following amendments has been made to the Consumer Protection Act

1986 ?

(a) Sale of Spurious goods (but not services) has been brought within the meaning of
unfair trade practices

(b) Section 4 and section 7 of the Act have been amended replacing Government “shall”
by Government “may” inrespect of issue of notification

Answer Options :

(1) (a) but not (b) (2) (b) but not (a)
(3) Neither (a) nor (b) (4) Both (a) and (b)
70. 180 T YEAHMIA RS TR FOMRGT Feaud A e ?
(a) VoG WEHR (b) TFIRE STf¥re/gwifaa e
(€) T aRss (d) &
g I
1) (@) (o) @) (2) (@) () (9
©G) () () (d) (4)  (a), (b), (o) ST (d)
The 180 degree appraisal means an official should be judged by :
(a) Colleagues in the organization (b) Clients/Citizens governed
(c) His remote senior (dy Own self
Answer Options :
1) @ () ) 2) (@) () ()
3) (b)) (d) (4)  (a) (b), (c) and (d)
71. ‘' TouIe B WA e vel e’ e faum o S a1 ?
(1) fosEresd 4 (2) wAfsHt g
(3) €. TSeER (4) T FE
“Governor is a bird in golden cage” Who made the comment ?
(1) Vijayalaxmi Pandit (2) Sarojini Naidu
(3) C. Rajgopalachari (4) AX. Ayyar
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72. SiISdl el
At Afdree
(a) <2 sfem () w9 wEhdl
(b) e 9Rd (i) STaWE afet
() === (i) VeFHES Helled
@ & e (iv) Swfue afeht
(@ (b) () (d)
1y @@ @ (@v) (i)
@ @ @) @ 0
(3 @ @) @ (@)
@ @ 0 @
Match the columns :
Channel Feature
(@) D.D. India (i) Art and Culture
(b) D.D. Bharati (i) International Channel
() D.D. News (i) Top in Viewership
(d) D.D. National (iv) Bilingual Channel
(@ (b) () (d)
1) @) @ (@v) (i)
(2) () (v) (i) (i)
3 @ (@) @) (v)
4 @ @ @ (@)

73. faum (A): forepfa 2o FHSTME TEATE § WA STaeda STIftr SRR Sueia

ST

T (R) : ol BIUTR WA G338 T&T9Sd! fEauegisal S|« M #1d.
Hichfaew 47

(1)
()
®)
(4)

(A) 3TOT (R) S8t SRR 37Rd STfYT (R) © (A) & A1 TR0 31Te.
(A) 37T (R) Set SR 3TRA W (R) ® (A) 3 a7 T Tl
(A) ST 38 9T (R) G o118
(A) I TR T7 (R) T SR,

Assertion (A) : Indeveloping societies, pressure groups exist in a rudimentary and poorly

Reason (R) : In developing societies, well-developed party system takes the function -

organized form.

of interest articulation.

Codes :

(1)
2
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not a correct explanation to (A)
(A) is true but (R) is false

(A) is false but (R) is true
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74. faam (A): g Y5l ST At S yiafifue i o e W
WRUT (R): FARATEIGIIE, FEIY U5l o M yihaan aRas oTe,
Wikfaes qai7 :

(1)  (A) 3T (R) ST a@T 3T1ed 7 (R) B (A) ° ANG TIRIHI .
(2) (A) 3T (R) Sl aieR 3Ted g (R) € (A) T I TTIHI0T T
(3) (A) SR 38 U7 (R) T4 e
(4) (A) IehTd 3R 901 (R) UK 3T,

Assertion (A) : Multi-party system is said to be more representative of the society.

Reason (R) : Multi - Party System is the consequence of the electoral process rather
than of the pluralism.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not a correct explanation to (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

75. REIo aF faum=n faam &
(a) Al fFEH § YR U §o 6.
(b) ~IFEO TR B UL vaft TR,
ST |
(1) (a) TR TG (b) TR
(2)  (b) SR T (a) TR
(3) T (a) T (b)
(4) (@ () T TR
Consider the following two statements :
(a) Pavo cristatus is the national flower of India.
(b) Nucipera gaertn is the national bird of India.
Now state whether
(1) The statement (a) is right but (b) is not
2) The statement (b) is right but (a) is not

(
(3) Neither statement (a) is right nor (b)
(4) Both the statements (a) and (b) are right
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76. HoH-23 A o’ a1 Heheun=n 1Y TR o wiete faurEn faer w59

(a) WK FH
(b) VRIRE eFquioms S HIEE Gl B0
() oTf=® T=aE

d) fofire AowmEt wm F0 it @ wEEriiEE s T 7 fewro,
R faumi= fas &3

(1) %S (a) TR R, 2) (a) MU (b) TS 3RA.

3)  (a), (b) S () SRR 1R (4) & IR 3T

Consider the following statements stating the meaning of the concept of ‘Begari’ in
Article 23 :

(@) Forced labour :

(b) To make compulsion to work beyond physical capacity.

(c) Involuntary servitude

(d) To work for a particular master and not to seek employment elsewhere without his

permission
Choose the right combination of correct statements :
(1) (a) alone is correct (2) (a) and (b) are correct
(3) (a), (b) and (c) are correct (4) all are correct

77. IR GO Y Yefahd SN A ;
(a) R SHeETIA
(b) Tt ST
(c) i AN
(d) S9! ST Hehe SR

Epipigent
(1)  Only (a) 2 (a) =nfer (b)
(3) (), (b) & () 4) (), (b), (c) 3 (d)

“YASHADA’ is conducting PG Diplomas in :

(@) Urban Management

(b) Rural Management

(c) Child Labour

(d) Disaster and Crisis Management

Answer Options :

(1) Only (a) (2) (a) and (b)

(3) (a), () and (0 () (@), (), (0 and (d)
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78. Y& S SR foreR L
TS faum o 9 g e SR 5P AR
(a) T TREY A formdie Tide A% TN W
(b) 14 SHAR 1994 TRT FSATEl fHaTdiem MR S IEERd TdeHt TSarel {aais
TR I,
(1) (a) TR R & (b) ™R AT KR Y
2) (a) SR 3R T (b) TR ATA FHR AR
(3)  (a) SIS (b) A
4 (b) TR (a) TR

Consider the following two statements. The first makes an assertion and the second gives
the reason therefor.

(@) Swami Ramanand Tirth Marathwada University came into being at Nanded.

(b) From 14th January 1994 Marathwada University Aurangabad was renamed as Dr.
Babasaheb Ambedkar Marathwada University.

Now state whether :

(1) (a) is right and (b) is the reason therefor

(2) (a) is right and (b) is not the reason therefor
(3) (a) right but not (b)

(4) (b) right but not (a)

79. TS ArEAfts e SR W) Teieis! wiver favgiat o1 ?
(1) fagm, nfvrm, gefers s
(2) fa=m, gusit fragor, HorR
(3) fogm, afvE, Eoe
(4) Tomm, wiftr, Ui faem
The Rashtriya Madhyamik Shiksha Abhiyan focuses on which of the following subjects ?
(1) Science, Maths, Regional Language
(2) Science, English Education, Computers

(3)  Science, Maths, Computers
(4) Science, Maths, English Education
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80. Waled ATGAN HaQN SaeTa w4 feo ?
(1) Hatea AAGAN AFMRHA THRIHS TaeHHEl g3 ot
2) R THNIHF A Fata e wa feauraan Afrs sEde ™ 7aeH ek B
(3) (I Felled TS BIbiAl SHIAT AHRIATET §Fh Sl
@) o i seR TR

What has the Supreme Court recently given to the voters ?

(1) The Supreme Court has empowered the citizens to cast a negative vote

(2) If negative votes are more in number than the maximum any candidate has polled,
that will nullify the elections

(3) Truly the Supreme Court has bestowed upon the people a right to reject

(4) All the three above

81. HENE wAeed @i e faum faamm =,
(a) % WEHR FUAR/ Mo daTuRE i1 o 7erms i &2 a9 1 9 st genfea @,
(b) STEEN SRR S AET W1 10% @S SGA & 1.7.2013 TR 90% T 3T,

ST | Ea) :
(1) (a) K (b) (2) (b) TR (a) TR
() (a) 30T (b) A= AR (4) (a) S (b) -G s

Consider the following two statements about the Dearness Relief :

(@) Therates of Dearness Relief payable to the Central Government employees/ persioners
are revised every year on 1%t July. ‘

(b) The last rise declared was of 10% raising it to 90% effective from 1.7.2013

Now state whether :

(1) (a)is right (b) is not (2) (b) is right (a) is not

(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

82. T SV fauM &g amg ?
(a) TR FME FAASE A0 TNETA], AN FIIAR Yfqaiia FSed Feamehal HIiter et
S IS AHA TG
(b) THM FIVUEES THIUET s de T Aroadl A .
(c) =i w@a:fovs WaikR % o =,
11y ‘
(1) & (a) 2) W (b) (B) W (c) 4) =iewd
Which of the following statements is incorrect ?
(@) No person can be convicted for an offence committed before the promulgation of
the Act prohibiltting that offence
(b) No person shall be prosecuted for the same offence more than once
(c) No person can be a witness against himself
Options :
(1) Only (a) (2) Only (b) (3) Only () (4) All the above
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83. 3N 14 faamra o wRicwat a1 Wi Fom et Femmerdie fanwema o ?

(1) Sy T=." (2) TTHE

(3) <ag 4) T

Which of the following Hindi movie actors has 14 Silver Jubilee movies in succession to his

credit ?

(1) Amitabh Bacchan (2) Raj Kapoor

(3) Dev Anand (4) Rajesh Khanna

84. I S, ATYHa Tt (FAER Fiaay) Hfaftam, 1989 sara srdita Sea fen st

IR ?
(1) TH 99 ace (2) W@ IEE
(3) ST 4) TS

What is the maximum punishment under the Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 ?

(1) Five years and fine (2) Seven years and fine

(3) Life imprisonment (4) Death

85. YRATe TLYA! WA HIvT= FoTaH Fafd HHY gl ?

(1) i gdueet TUFUH 2) oI FERFET
() 4. == iR (4) TN BFEA T T

Who had the shortest tenure as the President of India ?
(1) Dr. Sarvapalli Radhakrishnan  (2) Dr. Zakin Hussain
" (3) Shri. V.V. Giri (4) Dr. Fakhruddin Ali Ahmed

86. YRio faumi=n faur &
(1) 3ifush HSIIYUT ] SHRS RO IR
(2) iy FSSTTRIYUT 71 SR 9o e
(3)  THH WEAHIH! 7 AN I Yoed HIT A1
(4) onfde YT 9 SIHHEA 916 A I Ao ST eI T = T A TEe AR
Tiols! HUR fAaE gEe R ?

Consider the following statements :

(1)  The high level of indebtedness is the cause of poverty

(2)  The high level of indebtedness is the effect of poverty

(3) Unequal resources is not the major cause for unequal incomes

(4) The failure at both the fronts promotion of economic growth and population control
perpetuated the cycle of poverty

Which of the above statements is incorrect ?
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87. igas fEHMERIAY Hfewi=l HI&T FHTRT 2005 AL SHOR Afuwi =fafiis IRdta <8 fagm
Hfgd=n Tiele Hive Honerad e difed Aledd TR Hid 3d ?
(1) 332 (2) 337-4 (3) 353 (4) 498 -9H
Besides complaint under the Protection of Women from Domestic Violence Act, 2005 the

victim woman also has the right to file a complaint under which section of the Indian
Penal Code ?

(1) 332 (2) 337-B (3) 353 (4) 498 -A
88. W& Ty ifufam 1923 =1 IEIe Fwonier arg siedl Sl

(a) TauEv () e 11

(b) ¥ AR (i) HeH 15

() TN FOD TR (i) HSH 9

(d) AR foan (iv) ®o¥ 3

g S

(@ (b) () (d)
V@ @) @ ()
(2) (), (@) (v) (1)
@) (v) @ (@) ()
(4) @) @ G @)

Match the following sections of the Official Secrets Act, 1923 :

(@) Incitements (i) Section 11
(b) Search warrants (i) Section 15
(c) Offences by companies (iii) Section 9
(d) Penalty for spying (iv) Section 3

Answer options :

(@ (b) () (d)
1) @ @) @ ()
(2) @), @) (@v) ()
@ v @ @) ()
@ @) @ @ (@)

89. ‘TR FIN' 1o WIHGIh! IV fIHM 3T R ?

(1) faftreem fFam T sifeyE TR 39 =,
2) TE I ARSI WUl AT A% 4.
(3) EERR] AT SlhHEH=A YHIUIG HId! .
(4) AUSATSAS HII el  ANTR R’ forrer g,
Which of the following statements regarding ‘Nagpur Pact’ is incorrect ?
(1) At least one session of Legislature should be held of Nagpur.
(2) Bench of Bombay High Court should be at Nagpur.

(3) Recruitment in Government service should be proportionate to population.
(4) The Congress leaders from Marathwada opposed the ‘Nagpur Pact’.
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90. VAHL FIIR Y&TTe YSHR H0Ie] FTesdedia TogH demd ?

(a) TAMYUF TBAD (b) DrehiederEl FBID

(c) SR Hoseres (d) & T

e yatast 9 d e

(1) (a) 3 (b) (2)  (b) 31T (o) (3) (o) s (d) 4) (@) = (c)
Peasants and Workers party’s roots are found in which of the following
movements ?

(a) Satyashodhak Movement (b) Lokhitwadi Movement

(c) Non - Brahmin Movement (d) Bhoodan Movement

Choose the correct option :

(1) (a) and (b) (2) (b) and (c) (3) (9)and (d) (4)  (a) and (c)

91. WRdrE HfauETeN How 356 = v e aRfaeR I w0 SRd. EootE! Hive
forormeft = shosmTen Wely SrEeAH @ foEeeg 3@ 2
(1) TSI 9T d1ed
(2) T enifdier sTeived sifte T
(3) ToHIAER LT TsTae BFY HI.
(4) HETEn <o
Article 356 of the Constitution has generated lots of debate because it deals with :
(1) Inter - State Water Disputes
(2) Greater autonomy for states in financial matters

(3) Declaration of President’s rule in a state
(4) Status of Kashmir

92, fHuM™ (A): YRAW THEND TS YA T Faes S
HRUT (B):  TAGH Srehiden WA gfaffae &,
1) (A) enfor (B) SR R4, (B) B (A) & SIS TTEIHI TR,
(2) (A) Tfor (B) SISR 3MEA. TV (B) § (A) A T TTE.
(3) (A) SRISR 371 UI (B) <[ 3TTe.
(4)  (A) 9% 3T T (B) T 3L,
Statement (A) : India’s council of state is indirectly elected.
Reason (B) : Council of states represents the state rather than the population :
(1) (A) and (B) are true. (B) is correct explanation of (A)
(2) (A) and (B) are true. (B) is not the explanation of (A)

(3) (A)is true. But (B) is false.
(4) (A) is false but (B) is true.
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93. SR MYV YL SN SEBHMH & Mgel a8 N STRT=E1 (9F=T) Gg9rT 1950-51 =41
SN d. = 55.4% TR 2008-09 HE 16.9% WHA IO AG@dl. WHTHE TR dA
FEIET : F, T 9 o SFIuE Y U ?

(1) T 9 I I T W WOE g FH & Frea A<l
(2) o TSI W TR g F¥l § Akl HTHATT FIIM I
() W AU WY WU UgT FH 9 9 AT G I,

(4) T, 9N A FIEAEG FAfHT AR I

If we consider broad trends in distribution of national income the share of the primary

sector has declined from 55.4 percent of GDP in 1950-51 to 16.9° percent in 2008 -09.

How did the three components of the primary sector : agriculture, forestry and fishery

behave during the period ?

(1) Rapid fall in the share of agriculture; the forestry and fishery remaining nearly
constant

(2) Rapid fall in the share of agriculture and fishery; forestry remaining nearly constant

(3) Rapid fall in the share of agriculture and forestry; fishery remaining nearly constant

(4) Steady fall in the share of all the three agriculture, forestry and fishery

94. WieM TElL
lan ‘a’
(a) MIDA G) 1972
(b) YASHADA (i) 1982
(c) LBSNAA (iii) 1959
(d) NAA (iv) 1990

(@ () (© (@
H O @ @) (@)
@ @) @ O @
@) G) G@v) @) @)
@) @ @ 6 G
Match the Pairs :

A B
(a) MIDA G 1972
(b) YASHADA (i) 1982
(c) LBSNAA (iii) 1959
(d) NAA (iv) 1990

@@ () () ()
1 @ @ @) @)
2 () @ @ ()
@) @ @v) @G @
@ @) (v @ )

HERT HIEE AT /SPACE FOR ROUGH WORK

P.T.O.



TO2 46 A

95, HEIe G (public employment) STETH ARA T A TIRITHR WISOUHT HIVET o
faem W 37ed ?

(2) TS P F&T WA T AT, TET VAT S1FaT haunfad YSud areisd Hora e
3T T TH.

(b) TH YEA e TS T Gadio Amarsddal WAe fHa deamm a1e w e
FET =G Ik,

(c) TR AFTHETTE T2, S aresf T o TR gfafafe A, @ien s e
EELIDLH

(d) v fafire auide TR THl St S 50 <5 SR SR w0 qaiened
@Tgete auta e feoean sfta Smet fo=ra sarear srmam.

1) (@) ®) 2 @ @ (@) @ ®) (9 @) 4 ()

Which of the following statements are true with respect to public employment under the
Constitution of India ?

(a) Parliament may make a law prescribing any requirement as to the residence within
the state or union territory as a precondition for public employment in a particular
state or union territory.

(b) Any State Government in India can make a law providing for requirement as to the
residence within the state for the public employment under its authority.

(c) Reservation in promotion may be made in favour of any backward classes of citizens
not adequately represented in the services under the state.

(d) Backlog in reservations from the previous year needs to be considered together with
the reserved vacancies of the year in which they are being filled up for determining
the 50% ceiling on reservation seats of that year.

1) () () @) (@ () @) @, (b), (), (d) 4 @
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96. SHfaTaE (gurom) Afuf=m 2009 TER : _
(a) 't de’ A freed TagmrE Yeeen fegamRE T feeen e yeia s I,
(b) TSI AERMA AU hoedl THR Hoal fol TR HHERIAT YN SRame

A VS TS 3R,
3T qAdt I e
(1) (a) T (b) e TR @) (a) 3T (b) SR I
(3) T (a) TR (4) I (b) TR

The Representation of Peoples (Amendment) Act, 2009 states :

(@) That results of Exit Polls should be declared only after five days from the last polling
day.

(b) That all officials, whether in government service or not, appointed by Election
Commission are brought within the scope of corrupt practice.

Choose the correct option :

(1) Both (a) and (b) are true (2) Both (a) and (b) are false

(3) Only (a) is true (4) Only (b) is true

97. WGB! FHIVI 74 SAT TS GeEiet e oMRd ?
(a) OIHUE, FHIME! forhg o AL FHI,
(b) AN GHISITET HEHFT Frefaol
(c) TG TR Heen g1 fowa wwadl g <R
(d) TR T HeuieR T e gurEt s geenfia o,
(e) TR TN W enfiishgeean War 9 Wyl sFfa
Tl HN 3R T R ?
1) @, ®)© @ @ © @ 3 @, ) (e @ @, (®), (d), (e
Which of the following are the objectives of 74th Constitutional Amendment ?
(@) To strengthen the Democracy and Democratic decentralisation
(b) To increase the participation of Civil society
(¢) To include the subject of Urban Local Government into the concurrent list
(d) To bring local governments under the control of State Government
(e) To empower them economically and make them self reliant

Which of the objectives given above are correct ?

1) @, ®) (9 2 @ © @9 @) @ (b) () 4) (@), (b) (d), ()
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98. Toiw 23 fedar 1993 U e Fean Ioedl Wi+ &9 fawmg a9 (e wiar Txoqde
@) GINAT &a: =41 HagH &3 w1 e/ TS aid B3 IR HEars) s, sed
elo fqumian foar &3 ¢
(a) T TF AR AT ST,

(b) SIS & AT YT Hol TS Bl T QISR 5. 5 O THH 3Tt ol Bl
(c) 3Tl WHH Tt TR . 5 hidl TR,
(d) T lapsable fif¥=a Fem smaia fecams A@ fiesd & qemer fire.
(e) TR wmEA Aema fror 3a.
() TERRT IS QWA Fo8! wF gag ehd
(g) TR TRl wieH FHio SR ) sTwa
(h) TTHIR WHIRTS TRYH Giaen 3§ FesTe ITArT=a1 SRS A Toe T,
ot Sl faem et 3ed ?
T W
(1) @frE (2 () (3) e () (4) H ()
Consider the following statements about the Member of Parliament Local Area
Development scheme launched on 23" December 1993 to enable members of Parliament
to recommend works based on locally felt needs in their constituencies.
(a) Itis a non - plan scheme
(b) When launched an amount of Rs 5 Lakh per MP was allotted
() Now the amount per MP is Rs 5 crore
(d) The funds are released on lapsable basis
() The monitoring is done by District Authorities
(f) Nominated members can recommend works any where in the country
(g) Creation of durable assets is given priority
(h) MP can recommend community infrastructure and public utility building works
Which statements amongst the above are incorrect ?
Answer Options :
(1) (a) and (d) (2) only (e) (3) only (f) (4) only (h)
99. i TumETed YEIo HivW faum Sewte 3R ?

(1) e Fwe[ Fem T geve % g

(2) TGHAE TGt HEI fSHTll =g Bt

(3) TS qfem TR et dyn IRl 19

(4) SHETE AR T@ A FedmIid feai= ®AE 95 Tsol.

Which of the following statements about the Womens Position is incorrect ?
(1) In Vedic Period women enjoyed higher position than men

(2) Matriarchal system existed in some areas

(3) Restrictions were imposed on women as an impact of Manu Smruti
(4)  As the concept of division of labour got accepted the position of women changed

FoedT RITETS! TR /SPACE FOR ROUGH WORK
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100. "HEMRWIfeH A o Ufes® ®M aie %7 3l
(a) T 9 WESTH B g
(b) TR IRVENE TOE Al WA FO
(c) IaRw  fiReimd
) e freoms 9= o
(e) TIUEIGRI Hell SUGSH FHIU
(f) TR Hewl 9 WreSIe Wogaryeial SRl | Froft

i IW

(1) (@) - R, (b) - Ao, () - W, (d) - S, (e) - Ao (f) - sifrard
2) (a) - 3T, (b) - WBF, (c) - T, (d) - WD, (e) - e, (f) - Ao
3)  (@)- =, (b) - FBF, (0) - A, (d) - FFE, (e) - A, (f) - oo
() (@) - A, (b) - S, (o - o, (d) - W, () - Ao, () - SAframd
Identify the sequence of obligatory and optional functions of Municipal Corporation.
(a) Cleaning of Roads and Public Places

(b) To provide facilities of Gardens and Swimming pools

(c) Tree plantation and play grounds

(d) To provide facilities of primary education

(e) To provide the facilities of Ambulances

(f) Drainage system and construction and maintenance of the public toilets

Answer Options :

(1) (a) - obligatory, (b) - optional, (c) - optional, (d) - obligatory, (e) -optional,
(f) - obligatory

(2) (a) - obligatory, (b) - optional, (c)- obligatory, (d) - optional, (e) - obligatory,
(f) - obligatory,

(3) (a) - optional, (b) - optional, (c) - obligatory, (d) - obligatory, (e) - obligatory,
(f) -optional

(4) (a) - optional, (b) - obligatory, (c) - optional, (d) - optional, (e) - optional,
(f) - obligatory
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101. TO@YR! HIVMT TYR YRA T FeAds TRIETaR VAR AT HL0ared] Y] HI0IE!
g1, HATIR FHITATAT ST SRR ST T 3T ?

(a) HIUCIE UM, ¥, FTIR FLUAHIA ANRRRS A Areifie stean et g
3THY e Foarn AFR 69 Hee o

(b) T AHATH TEIE! HEAT TERT SAUR FeT Hq 3THS W Al F0AIRA TR sfad
T JoAre FHHR TEEE D 3.

(c) TN HIVEIE ST BT FHeTd ANNHEL Sl AL

(d) STl FE7 TR SCTENE! TRdl A,

T I

1) (@), (b) 2) () () 3 @, ®) (9 4) (@) (b) (), (d)

Which of the following statements are true regarding a fundamental right to practices

any profession or to carry on any occupation, business or trade by any citizen ?

(a) State may make a law making it obligatory that a citizen should possess appropriate
professional or technical qualifications for practising any profession or carry on any
occupation, trade or business.

(b) Citizen can be restricted to carry on any trade, business or service if it is being practised
by a corporation owned by the state

(¢) These restrictions can be put by the state only by making a law

(d) The restrictions can be imposed by the State by an administrative order as well.

Answer Options :

1) (@), (b) @) () (d) 3) @ ®) () @) (@) (b), () (d)

102. Toneromen gom sifufrm, 2009 Hewla wde faum wet anfon 9rg gafa faer -
(a) Tcdsh ol WILAHe TR HoYd g 38 379 71 fufas geuadl.
(b) TI&U § FHIHTRRE ST TGS S ST,
(c) SHMTEIiE MemaE 7 < A

Wﬁ? ‘3’(‘& :
(1) (a) 37T (b) SAR 3R (2) T (b) ISR 3R
()  (a) 3f (c) TR AR (4)  (b) ST (c) SRR TRA

Consider the following statements regarding the Right to Education Act, 2009 and choose
the correct option given below :

(@) It implies that every child has a right to secondary education.

(b) Education should be of satisfactory and equitable quality.

(c) It can be imparted in informal schools as well

Answer Options :

(1) (a) and (b) are true (2) only (b) is true

(3) (a) and (c) are true (4) (b) and (c) are true
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103. TR 9 W€ IR W T 9 FiesiTe &7 JeieK Sk $auda a1 gt ?
(1) foud g (2) Gr=Et e (3) et A (4) <EET Al
The emphasis on growing public sector with massive investments in basic and heavy

industries continued till :
(1) Third Plan (2) Fifth Plan (3) Eighth Plan (4) Tenth Plan

104. @B fa4M ared 9w v fas.
fadt AT TN FOTT QI FAl FEAE FRU S0 FTaa I SAaGal aneavi fades
H 1975 WEA WG faUuel © F0AE! SFavashal Tead o). ST SIevn avi wem
TR HS I ?
1) fadiuset afwaa () omEfaw fadaR
(3) WHER Hewr! |ihaar (4) WRTHRE WiswIar
Read the statement and select the correct option.
In May 1975, the opposition persuaded the speaker to withdraw a Bill aimed at extending

preventive detention because the Ministry of Law had drafted it poorly. Such incidences
are considered as :

(1) Legislative activism (2) Excessive legalism
(3) Executive activism (4) Administrative activism
105. T faum uer

(a) TSI HA STEM T WK HEFd TR S U SAfgd1d T A 3R

(b) HTEI ST 7 Q1 SR S A1 &R 379 A0 600 oY T Hed AT T
3.

S

(1) (a) = BT A 3T

(2)  (b) e ST A AR

(3) T TR ARET A AR

@) el faum = wwaErE T

Consider the following statements :

(@) The word Assam as per some is derived from Sanskrit word Asoma meaning peerless
or unparalleled

(b) Some others say the term has come form Ahoms who ruled the land for about six
hundred years prior to its annexation by the British.
Now state whether :

(1) (a) is more widely accepted

(2) (b) is more widely accepted

(3) Both are equally acceptable
(4) Neither of the statements is acceptable
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106. OYQ ATURR WHATIG: TCIEE=aT 6y TR TATRGHHT GR&0T 0. TIASUH! Hio@
ANRR e T S RIS TR A=A HGRIIT TREI0T LN ?
RECRCICAREC
() HOH 14 (b) A 15 (1)
() wHTH 15 (2) (d) %oH 16
(e) ®H@H 17 () =wHeH22(1)
(g) HoH 23
ot S
1) (@), (), © (2) (), (d) () (3) () (e) (8 4 (@ O (@)
The Fundamental Rights primarily protect individuals from arbitrary state action. Which
one of the following goes beyond and protects individual against the action of other private
citizens ? Select the correct option :
(a) Article 14 (b) Article 15 (1)
(c) = Atticle 15 (2) (d) Article 16
(e) Article 17 (f) Article 22 (1)
(g) Article 23
Answer Options :
(1) (@) () (© (2) (b)) (®) @B) () () () @) (© ® @
107. TRURSR=AT TETEN S(Sidie Helfdsh =) AT T (TEeS]) FOAHL] WAdeh! HIT aqaT

AT STRA ?

(a) WeHta areldi® 25% Y& HH TS AfeST HAQRIH! 3TSt e qiiest.

(b) U ASH BEA ATHEF T IAGA YoF AAHGT ol ARG,

(c) ToeRfierrai=n SEATER T HAEH =S .

(d) SR vafashi=l ST & HUAr AN HagH Aed™ a9 A NMesiysn <die.

i I

(1) (a) % (2) (b) ®d

(3) (c) nfor (d) @) = Y= e R

Which of the following provisions for cancellation of sales permit of liquor in some ward

of the Municipal Council is /are NOT correct ?

(@) Not less than 25% women voters from same ward have to apply

(b) This application is scrutinised by the Superintendent, State Excise

() Secret voting is conducted by the order of District Collector

(d) If the majority vote is in favour of cancellation of sales permit of liquor, the District
Collector gives such an order

Answer Options :

(1)  (a) only (2)  (b) only
(3) (c) and (d) (4) None of the above
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108. fSeifererdt wereht ffifdt WA shoren e ?

(1) 1772 (2) 1858 (3) 1861 (4) 1907

Name the year when the institution of Collector was created in India ?

(1 1772 : (2) 1858 (3) 1861 (4) 1907

109. frdedt Tw fafaa aifaaa = @xugl oisl faftmean 22 €= Tgd Wy weiviET SR
iy Ugd A&
(a) U AgH ifededra@ T 31q wHd
(b) U HTH AUFIRG JHSTHA 3T AHA

o I fqumids! HIvK SR AR/ R4 ?
(1) %= (a) 2) 93 (b)
@) T@T(®b) 4) = (), (b)

A curious characteristic of cricket is that the length of the pitch is specified 22 yards but
the size or shape of the ground is not :

(a) Grounds can be circular as in Adelade

(b) Grounds can be oval as in Chepauk

Which of the above two statements are/is correct ?

(1) Only (a) (2) Only (b)

(3) Neither (a) or (b) (4) Both (a), (b)

110. YRaWe ¥d Fga, Teh Fitor & 3y g 87 T oiqla s=d o9 i TR,
T 1980 1 2012 =41 M, THY G AdTa JHamed ae TR ol SATR Bl ?

(a) & Fga (b) R Hiftk & (c) drdfE &
(1) 40% 30% 30%
@) 30% 20% 50%
3) 75% 15% 10%
(4) 50% 20% 30%

Domestic Savings come from three sources, viz. households, the private corporate sector
and the public sector in India.

Between 1980 to 2012 nearly how much did each one of them contribute to the gross
domestic savings ?

(@) Households (b) Private Corporate (c) Public Sector

(1) 40% 30% 30%
) 30% 20% ' 50%
3) 75% 15% 10%
(4) 50% 20% 30%
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RIS HIVK fAem Sehia TR ?

(1) IRgTde IS SqUau JEiaed Hale Ay dihe i 6.

(2) SuUETden TR Seuar gaigeya wgadien fofa «ifmm e

(3) STEYdEl S TR STEA™ 3TN Hivuadd hod! Haed ST 83 AR,

(4) SuUgvdien Fasuwdad RivEmE awEie sreE ot @feume b T ey
LT A4

Which of the following statements is incorrect ?

(1) The Supreme Court inquires into the matters arising out of election of a Vice President

(2) The decision of the President in the matters arising out of election of a Vice President
is final

(3) If election of a Vice President is declared void acts done by incumbent until such a
declaration do not get invalidated

(4) Parliament can regulate any matter connected with the election of a Vice President
subject to provisions of the constitution

112.

ALY gl Tayta Fifavd o a e gierwi-n 99w I i@ oot .

T STy qed gavl, T 9 Hied Tgsh MHeaui . 50 D@ 9 %, 30 1@ 9 %. 20 J1@

FTRd T wam.

3T (Rt faem 1.

(a) wydem Frareaw and} 240 feaw yfem tee RNwmam fo@ 10 sraeam yiveew 3@
e oo S,

(b) e fSiwuraT Taefenrg fiyesuman WA 25% WA TieeE fodt S,

T W

(1) (a) SRS 3T (b) TS AT (2) (b) TS MR () TUSK &

(3) T IR IR (4) RIUIGE! SR TR

Special Cash awards are given to winners in International Sports events and their coaches

for example for winning Gold Silver and Bronze Medal in Olympics Rs 50 lakhs,
Rs 30 lakhs and Rs 20 lakhs respectively are given to the winners :

Now consider the following :

(a) Cash awards are given to coaches who have trained the medal winners for atleast
240 days immediately preceding the tournament

(b) Award money to a coach is 25% of the award money given to the sports person

coached
Answer Options :
(1) (a) is right (b) is not (2) (b) is right (a) is not
(3) Dboth are right (4) neither is right

THoedl RIHMETS! S /SPACE FOR ROUGH WORK




A

55 TO2

113. T fafite Jorg Fdaam=a sinaaaariHe! W Stie STen §aied areare e 138 fHarsaia
VA HcaTdl 0T ATH FHEH He e ?

1)
(2)
3)
4)

Hiaum™ e S0 2N I STeY 9 Hewn, TES 9 USEa AEl 3ATE HI0,
WRATT® T QA ST SYWTe gl STeul,

i gateve W& FET QT GHROT FH0L,

6 1 14 TN SToHd Riaor=t Het Sucs H&T O,

The Verma Committee on Fundamental Duties has cited as many as 138 Supreme Court
cases that facilitate the enforcement of a particular fundamental duty. Which Fundamental
Duty from among the following has been referred to by the Committee in this context ?

3)
“4)

To abide by the Constitution and respect its ideals and institutions the National Flag
and the National Anthem.

To promote harmony and the spirit of common brotherhood amongst all the people
of India.

To protect and improve the natural environment.

To provide opportunities of education to child between the age of 6 and 14 years.

114. FvQ f9y sHaT 3R ?

)

vt st 12 e ifye 1A wiaifyes fet sma .

wdt ot 5 GaT sifaem wTTEg Wikdiueh TG ST A,
et ol 3 Qe srferes gomerd Wik fedt s .
e THe et

Which statement is correct ?

1)
(2)
3)
4)

Not more than 12 Arjuna awards are given every year
Not more than 5 Dhyanchand awards are given every year
Not more than 3 Dronacharya awards are given every year

None of the above
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115. GOt@UH! HIVE! faum Stew 3 Rd ?
(a) TR AN T CUHSAHAT WHISE, i anfvr Srarforer feerdian srvame swvamandt
AT B
(b) T TRt VMeal WA HETRI SISUA] TS 3R,
(c) TSHIMYA W< HoS Reafors wan & Afoe qieed faemdis yarwmhial ure o,
TR W
1) (), () 3T () (2) (o) A (a) (3) (a) S (b) @) (b) 3 ()
Which of the following are true ?

(a) Sachar Committee was established to study social, economic and educational status
of minority communities.

(b) There is a proposal to link Madrassas with the National Institute for Open Schooling

(c)  Aligarh Muslim University recognises qualifications from Madrassas for the purpose
of enrolment.

Answer Options :
(1) @, (b)and (c) (2) (c)and (a) (3) (a) and (b) 4) (b)and ()

116. T9 HiSae A= SEaEd Qoo [Ham foearmd =1
(a) 91 FAT TRATGEEAT ARLITHR A1 HEIeR T ST,
(b) FauraSen THU AR TEES 15% S&T S TEE
(c) fTaftmeesren St AR TRl GYNRE HE=1 15% Y& Sed e
(d) TEIHEE 12 Q& ST TETE.

(e) HEIHNREM 12 U&7 FHH! THwE!.

Tt Fv faur e R ?

1) (@ (®), @) 2) (@ @ © @ 4) (@) () (e

Consider the following statements regarding the number of Ministers in the State Council

of Ministers :

(@) The 91 st Constitutional Amendment makes a provision of ceiling on the number of
Ministers

(b)  Shall not exceed 15% of the total number of members of the Legislative Assembly

(c) Shall not exceed 15% of the total number of members of both the Houses of the
Legislature

(d) It shall not be less than 12 including the Chief Minister

(e) It shall not be less than 12 excluding the Chief Minister

Which of the statements given above are not correct ?

1) (@ ) D 2 (© @ 3 (© 4 (@) (o) (o)
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117. SO faum = ¢

(a) e 9y A <ol fHesavarae!, fraeum SR, Fers rdieRtetd, 2005 WS SN[
T& 3 STD], UGN TERN &0 ®HA &l IR TAAE TIwiid 98 R A=l
e g6,

(b) WG FH 8 TAHEY, UHYT HAQHTA 4% W0 fHeraen gatd, o7eit smei=h o7 B,

I qig fae

1) (a) SR T 2)  (b) TR MR

(B)  (a) S (b) =T TS 377 (4) (a) 3Tf0T (b) ST SR TE

Consider the following statements :

(@) Inaddition to existing conditions, the Election Commission in 2005 introduced one
more condition that a party has to be recognised as state party in a minimum of four
states to be eligible for the National Party status.

(b) The earlier norm was to secure 4% of total votes polled in a minimum of 8 states.
Choose the correct option :

(1) (a)is true (2) (b)is true
(3) Both (a) and (b) are true (4) Both (a) and (b) are false

118. qRr® oM faumien faur &4 :
(a) Tua: forthe e TTE STTRRIET Bl T STEN HTRT Blohi NS - TN SeTeAl TN AGOH!.
(b) 3TET SRR TR FIA BT Sl A GGGy Hhal AF9l 9 STH AHR TeoaA e 9.

BREIRRIEIEECIREI
71T | T
(1)  (a) ST TG (b) T (2)  (b) T T (a) TR
(3) HIVIATE! WA Y ATE! (4) <RI g e

Consider the following two statements :

(a) Initially the cricket bat was roughly of the same shape as a hockey stick curving
outwards at the bottom

(b) That was so because the ball was bowled underarm and such a shape gave batsman
the best chance of hitting the ball

Now state whether :
(1) (a) is right, (b) is not (2) (b)is right, (a) is not
(3) Neither (a) nor (b) is right (4) both are correct

el HIHEG ST /SPACE FOR ROUGH WORK

P.T.O.



TO2 58 A

119. frai=d =R W onft Rl ardie faiaed= Tee faam fa=ur wu
() & fratem sgai=n TEa STetered TaHed TS el
(b) HAHESEAT HeeATTHR Fdl HAH TLIA R G TSThIE ARAGTAT SATRIER sAaire et
EERIETA
(c) VR fasy® gER=! WE ST gl STeiared Jeid aiqal .
(d) I Sfearedrdie wHarEt fert nfor densrdtered fram soamn Afwr e

.
TR ST AR JBuit 4
(1) HIB (a) IS AR, 2) (a) 3T (b) ISR STRA

3) (), (b) 3N (c) AR e, (4) =d TR .

Consider the following statements about the flaws in the composition and working of the

Election Commission :

(a) Constitution is silent about the qualifications of the Chief Election Commissioner.

(b) The President while acting on the advice of Council of Ministers may appoint a
person on the basis of political considerations.

(c) The Constitution is silent about the number and qualifications of Regional Election
Commissioners.

(d) Commission has no right to recruit and regulate the conditions of service of its
secretarial staff.

Choose the right combination of correct statements :

(1) (a) alone correct (2) (a) and (b) are correct

(3) (a), (b) and (c) are correct (4) All are correct

120. Hfedt S STt 2000 =1 TS ST HURT TEET HUH! STHS! T AR :

(a) T FHTN TeeER ¥ 7 FGw I .

(b) T HYAT HTEH HUIH TEEREH TS TR 1 A ke qON Ho) A el
SETeIER 3o 9 e I 3.

(c) T HUAIET TR HUIR FeEER AHSTAT SAeRi[ HIIAA (< A ol STel&IeR
3t 9 faea ur .

(1) (a) 3T (b) (2) () AT (o) (3)  (b) T (c) 4) (a), (b) 7 (c)

If a person committing a contravention of any of the provisions of the Information

Technology Act 2000 is a Company then :

(@) The Company shall be guilty of the contravention and shall be liable to be proceeded
against the punished accordingly.

(b) If the contravention is attributable to neglect on the part of the person responsible
for conduct of business of the company he shall be liable to be proceeded against
and punished accordingly

(c) If a person responsible for conduct of business of the Company has by sufferance

allowed the act of contravention he shall be liable to be proceeded against and
punished accordingly

(1) (a)and (b) @ (@) and (9 (3) (b)and (c) 4)  (a), (b) and ()
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121, Gfaurrean TR HRATEN TR EIUATHE1 10T 3 e Tegd! ?
(1) YRdW eifyem anfi
(2) WRAW S feha
(3) W & fudi=n WA S fohen
(4) ST YRGS fHHH 5 99 WRAd 9Mrd: e
At the commencement of the constitution what condition was not neccesary to be a citizen
of India ?
(1) Domicile of India and
(2) Born in India or

(3) Whose parents were born in India or

(4) Ordinarily resident of India for not less than 5 years immediately preceding such
commencement

122. GISIBUH! HIV HEIT YRS TR TefTen T et ?

(1) R wifewm 2) §§ (F7)

(@) srfugfaa & wiidt (4) TR &3 GiHd!

Which of the following is NOT an Urban Local Institution in India ?
(1) Municipal Corporation (2) The Commune

(3) Notified Area Committee (4) Town Area Committee

123. VA TR AT ST SR SR Wiere A faa =
(1) wafd Se= §91 Siore hdar.
(2) LT TER MG, HIAHHE! TIHN F TR FHIUATET A SRR R,
(3) TSTETAET SR AR Faeh ST W = GO0l FH & UFHa.
(4) q 9Ed U9 SR AN oo RNT 9 dEREQYR 304 TR & Ihard 0y & S ued
Y.
Fheds! HIv foum g o ?
Consider the following statements regarding powers of Divisional Commissioner about
Panchayat Raj :

(1) He can call the meeting of concerned institutions.

(2) He has the authority to check and verify the programmes and immovable property
of concerned institution

(3) If the strength of officers and staff is more than required” he has right to reduce it

(4) He can suspend the improper, illegal resolution passed by PR institutions, but can’t
cancel it

Which of the statements given above is incorrect ?
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124.

60 A
yeER gfdey sifuﬁm, 1988 =1 Twet¥ 31 §RI FHEATE Ho9 161 T 165-37 (S
qIfae) TBvaE 31,
(1) rer yfswan wfed, 1973 (2) WRET AT FEE], 1872

(3) wdtE 35 faum wisa, 1860 (4) feamft fsean wfear, 1908

As per section 31 of Prevention of Corruption Act, 1988, the sections 161 to 165 -A (both
inclusive) of _ were omitted.

(1) Cr.P.C, 1973 (2) Indian Evidence Act, 1872
(3) Indian Penal Code, 1860 (4) Code of Civil Procedure, 1908
125. Tyfea S, STgfaa St (TR gfaay) tfufem, 1989 TIR Wereis! v, el
<% ATHE T ?
(1) &% WHR (2) T TEHR
(3) TR TUST Hee (4) H=TEd
Under S.C., S.T. (Prevention of Atrocities) Act, 1989, who amongst the following is
empowered to impose collective fine ?
(1) Central government (2) State government
(3) Local Self government (4) Panchayat
126. TSNS Hiv@/H faur/3 FOE 3/ 324 ?

(a) ‘e’ TR TR Wi S oTg Avar i s .

(b) ‘U S’ U WIHRA &A= GRn gfagt freset wuH oo 1.

RRIRIICH A

(1) ®H@ (2 (D) (3) ()3 (0) A (4) SR T T
Which of the following statements are true ?

(a) ‘Paid News’, means money paid by a non-governmental organisation for a news
getting published

(b) ‘Paid News’ is money paid by government to disseminate information about its
policies

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) None
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127. ARG HY/FUR s H
(a) YREYE TIEd HOF 141 T 145 A8 ARISE! UREHAT T TRaE o,
(b) TETH FEAGATAT AL TSHTATO TG TR TIaT=T <o o T4 316,
Tt W
(1) F (a) TR, (b) T
(2) U (a) T, (b) TR
(3) FUA (a) T (b) A T
(4) F (2)  (b) TR TR

Select the correct sentence/sentences :

(a) Articles 141 to 145 of the Indian Constitution State about the Auditor General.

(b) Status and tenure of the Auditor General is similar to the justice of Supreme Court.
Answer Options : '

(1) Sentence (a) is correct (b) is incorrect

(2) Sentence (a) is incorrect (b) is correct

(3) Both sentences (a) and (b) are correct

(4) Both sentences (a) and (b) are incorrect

128. @idte faur a=q drg @ w3t fee &3 ¢
) 1919 =1 HAfufTEATER 3118 Y@ Wiad f55o WeT gl OF] vl Tal.
(1) 1919 =0 TfufraaER SiifEr snft fay @ yiarst ffifd woam e,
(II) 1919 = AfufrAER H&a sftn wida fawais afaer JFie Fvam e,
(IV) 9RA e SF] Al g 1919 =1 Afyfay FRemses e saaet 3t
et S
(1) ae faum (1) st R, ) faum () 9% AR.
@) faum () 9% o 4) faum (1v) 9% TR
Read the following statements and choose the correct option :
(I)  The Act of 1919 introduced the system of dyarchy in eight major provinces.

(I) The Act of 1919 created the provinces of Orissa and Sind

(III) The Act of 1919 carried out detailed classification of subjects into central and
provincial

(IV) The Act of 1919 was dismal failure in introducing federalism in India
Answer options :

(1) Only statement (I) is correct (2) Statement (I} is incorrect

(3) Statement (III) is incorrect (4) Statement (IV) is incorrect

ol RIS ST /SPACE FOR ROUGH WORK

P.T.O.



TO2 62 A

129. 'S IAERE T e Afuftaw, 2003 TR Fvr 6 foend add TR Haa
BATATT ?
(a) THIFA faeita foswo
(b) TYT-T(Yw TS faawor
(c) HEAH YAt TYSTHINT HROT faaror
(d) TSHINE YR SHgra faaro

T SW
(1) (), (b) 3T () 2) (), (b) 3f0T (d)
3)  (b), (c) = (d) 4)  (a), (c) enfT (d)

Which three statements have to be presented in the parliament as per the requirement of
the ‘Fiscal Responsibility and Management Act, 2003 ?

(a) The Consolidated Financial Statement

(by The Macro - Economic Framework Statement

(c) The Medium Term Fiscal Policy Statement

(d) The Fiscal Policy Strategy Statement

Answer Option :

(1) (@), () and (0) (2) (@), (b) and (d)

(3) (b), () and (d) (4) (@), (c) and (d)

130. T UM a9 g% vty e
(a) T TqE FOW faduw ¥ o7 fadus shew 79 T
(b) T Feiqa weifawas fadeaw § o1 fadas shed o1 7.l
(c) Hurew SaEryReonfawes fadusw T 47 f9dus o8od 18 TR
Tt I
(1) v (a) T (b) STF AT WH (c) ThIAT R,
(2) A (a) ST (c) T AT WH (b) T 3.
(3) Hd A STHH R,
(4) T T FgHE AR

Read the following statements and select the correct option :
(@) A Bill that contains a taxation clause may not necessarily be a Money Bill.

(b) A Bill involving expenditure from the Consolidated Fund may not necessarily be a
Money Bill

(c) A Bill involving audit of the account of the Union may not be a Money Bill
(1) Option (a) and (b) are correct but (c) is incorrect

(2) Option (a) and (c) are correct but (b) is incorrect

(3)  All the options are correct

(4) All the options are incorrect
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131. HEE TEEH THAAT LA Freedl AR e hd T el 2
(@) o GH JoT SIS HHE W HATeR Wl SIS HUUATYe T il STH H0IRI 3T e
Fe! e 30d A 5.
(b) R STSIHR JNSYHIY 7 TSTA™ TLIA A1 ST HAH B
(c) R FE WINR FTeTeodl feiia fufrafaa Fa St W 6 TSdearal Hioas @i
et TGAIRTaA WisTvard I,
(d) SR IR WINE STl feiai ST &at T3t W 6 SNSTSar=l FoEH Ahst
Faw= AR HSUE a5e.
& W
(a) AR :
(1) T (%R (2 TS (WK (3) (b) () (4) (b) 3for (d)
What is not true of the Ordinance issued by the President when the Parliament is not in
session ?
(a) It shall be laid before the Parliament. If the Parliament disapproves of it within
6 weeks of the reassembly the disapproval comes into effect
(b} If the Parliament does not pass disapproval within 6 weeks the Ordinance comes
into effect
(c) If the two houses reassemble on different dates the period of 6 weeks is counted
from earlier of the two.
(d) If the two houses reassemble on different dates the period of 6 weeks is counted
from the later of the two.
Answer Options :
Besides (a) :
(1) Only (c) above (2) Only (d) above (3) (b)and (c) (4) (b) and (d)

132. AORIERIT® Y Y= FHARAT IqEe @9 GIOIeGah! HIv Hid 7
(1) gofa: 9 gemEa
(2) Yola: T THR
(3) TSALIEA MU UH Y=rad SoaHE
@) T aftg snftr ToaemEA SoeAE

The salaries of the employees of Gram Panchayat in Maharashtra are borne by whom of
the following ?

(1) Entirely by Gram Panchayat

(2) Entirely by State Government

(3) Shared equally by the State Government and Gram Panchayat

(4) Shared equally by the Zilla Parishad and State Government
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133. YRAH THEATHR GIoGush! HiIvK faum STerdems e Sedd @l Ame! ?
(2) TF 9IS T HH YT VI ATER STING TeTHEATS o HIRIaT TR,
(b) HRATE WO ANk et afreqol fod, st o Sepd! gau=ra sifysr TR,

(c) TR HTfHen TGRS o=t Seifvres Feen Tmquyren STfushR 1.

(d) oAl AT T g 7ed wra g SRt Reiftes Fedd g, o, St fha
ST STHRER Jo9T ATHRAT J0T AT

g W

1 © 2)  (a) 3 @ (© 4 (k) @
What is not true about the protection of interest of minorities under Indian Constitution ?

(a) Constitution explicitly recognizes minority status on the basis of a religion or a
language.

(b) Only citizens residing in territory of India have the right to conserve their distinct
script, language or culture

(c)  Only religious minorities have the right to establish educational institutions of their
choice in India

(d) No citizen can be denied admission to any educational institution receiving aid from
the state funds on the ground of race, religion, caste, language.

Answer Options :

1 (© 2 @ 3 (@), (© 4 (b) (d)

134. 94 foren A= Qandel, e TrmE ST T UIeie F (RYITER 3@ e ¢
(1) forims wmara T wuEi=n ¥ s onfor weRane femuiia wie W Suedi=
QI 3THOI.

(2) TEAAE WERAT T GUEIH @I STE0 A7 Freraq e fomania e T ad=n
X ITHOI,

(3) oraimed Qe qEuTHie TeRdus ToIuqa R wHl 701 U TMead= THI0 HR ATl
(4) TTURT HIVTIET T,

The initial Educational Backward Blocks were drawn up in connection with the Sarva

Shiksha Abhiyan on the basis of twin criteria :

(1) Female Literacy being above national average and Gender Gap in Literacy being
below national average

(2) Female literacy being below national average, Gender Gap in Literacy being above
national average

(3) Female literacy being below male literacy of the state and high drop-out levels ?

(4) None of the above
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135. faum (A) : wRaren wgudi=t fas ey Fagus Tsdgr 26
ST (B) : WS IMET YR TSAYHE 1 ek ATHHTH THE STHaL.
I
(1) (A) 37f0T (B) SErEl s 31Rd. (B) ¥ (A) ' ae TEhIv 3T,
(2)  (A) 3TfOT (B) LI SRR 3TRA. T (B) ® (A) & SI&R TIRIHIT ATE.
(3) (A) S& A& YT (B) I .
@) (A) TF T 901 (B) T 3R,
Statement A :  The President of India is indirectly elected.

Reason B : Under the parliamentary system of government the head of state is only
a nominal head.

Options :

(1) Both (A) and (B) are true. (B) is the correct explanation of (A)

)} Both (A) and (B) are true. But (B) is not the correct explanation of (A)
) (A) is true But (B) is false

) (A) is false But (B) is true

136. 3HHT F T FaleR HINEIST ATIETT ?
(1) el e gl
(2) —AETGAT GRETER
(3) —agTErEl T T StfeeRr)
(4) =EeIr feeme amifayE

What does the term Amicus Curiae mean ?
(1) Friend advocate of the Court

(2) Messenger of the Court

(3) A salaried officer of the Court
(

4)  The British time nomenclature of a court
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137. Ele faum fa=ma =0 ;

‘\

(a) wfeTSt e HSTA SR fagd Aen wfeer wawfaes sifava 3™ w5
ISt 2,/3 TEAATH! ATl 3.
(b) wigoraRE! UEa I R vgdn ffved e .
() TR ST TS S Wi WIS W .
(d) 39 EEH UE § AfSINE! TEd 7.
T R T T T R SR w e e
1) (@), (b) TR® (), (d) T (2 (0), (d) TR W (a), (b) Th
() (@) (©) TR R (b), (d) T (4) (), (o) TR W (a), (d) TF
Consider the following statements and choose the correct option given below :

(@) 2/3 majority is necessary to pass the no-confidence motion against a woman Sarpanch
who is elected on the seat reserved for women.

(b) The reservation of seats for women is done on the basis of rotation

(c) Sarpanch submits his resignation to Sabhapati of Panchayat Samiti

(d) The post of Upsarpanch is also reserved for women

Answer Options :

(1) (), (b) correct, (c), (d) incorrect (2) (c), (d) correct, (a), (b) incorrect
(3) (a), (c) correct, (b), (d) incorrect (4) (b), (c) correct, (a), (d) incorrect

138.

G fauri=n faem &3 (A o R) :

faam (A) : 7= Fasu® SR THSRUT= Mo Seel S, 1.

HRUT (R) : TETAT HAGR HoIld 6 AAGH Soar=n AR JUarel STfshR &el 3.
o qaEmYA STt fae #:37 :

(1) (A) 3o (R) St §eA 3TA (R) ¥ (A) = TSR HRT .

(2) (A) 30 (R) St T ARA WY (R) ® (A) & S HROT AE.

(3) (A) T 3R WY (R) T 7M.

(4) (A) @R 38 T (R) T k.

Consider the following statements (A and R) :

Assertion (A) : Chief Election Commissioner can be dragged into the vortex of politics
Reason (R) :  He has power to order repolling in a constituency.

Select your answer from the following alternatives :

(1) Both (A) and (R) are true and (R) is the correct reason for (A)

(2) Both (A) and (R) are true but (R) is not correct reason for (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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139. WEEIS 6T SV Hoslia Fehed ATeled WO fauri=n fa=m 1.
(1) R q YW A AEHS! HR T A IR,
(2) HRAWEA HEEHTS! e WRET A1 A& @S K.
(3) HUHEH JuveR FgILIVE FHTT o hatdH! 3.
(4) A yhEUHE X U= SNifTe WREE 39 9 YedYN R E: TR
EAGEETIEIUCRERIRIE NE i
Consider the following statements about the Mahakali River and the Project associated
with it :
(1) Mahakali Treaty is signed between India and Bhutan
(2) Mahakali River is known as Sarda in India
(3) Pancheswar Multipurpose Project is the centrepiece of the treaty
(4) The project will mainly have power and irrigation benefits besides incidental benefits
of flood moderation
Which of the above is not correct ?
140. T 7 71 STEA
(a) o9 feagsgTEl Yl SO (b)  TMEH, FIMHAER TG R0,
() TragT#ivE Sigar 30 w10, (d) TSI LA TEiN 39 TR
Tl wivd fauE/ faun steT 3R ?
(1) a3 (b) (2) (a) 3T (b) (3) (a), (o) 3 () (4) (a), (b) SMAOT(d)

What are the aims of Pressure Groups ?

(@) To fulfil their own vested interests

(b) To put Pressure on Government and Administration
() To field candidates in Elections

(d) To back Political Parties

Which of the statements given above is/are correct ?

(1)  (b) only (2)  (a) and (b) (3) (@) (p)and (c) (4) (a) (b)and(d)
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141. W YERcmHe T aeld 3 9ahe ffaseam 3.
CICE
1 90T - AigSEEt TEa e
1 91T - STIEN et T o,
1 ST - §& HIYRY § Ged TEIe! ST,
5 SR WIoe YA wa fesredl, shiviy i SHear fagd o ?

5 SWEAR G
(a) 7. St - Afge 500
(b) Hfg 200
(c) ¥ - o7, St 200
(d) Tev 400
(e) TI&§ 300
91 IW

1) @@ @ @Od 6 @06.d @ @) ob)e
3 members are to be elected from a particular ward of Gram Panchayat.

Out of which .

1 - seat is reserved for women

1 - seat is reserved for scheduled castes

1 - seat is General Open

5 candidates secured votes in the following manner. Which three of them can be declared

elected ?

5 Candidates Voting
(a) Woman - S.C. 500
(b) Woman 200
() Male-S.C. 200
(d) Male 400
(e) Male 300

Answer Options :

1) @ () (e (2) (@ () (d) (3) (a) (), (d) 4 (@, () (e

142. FESUEF A 9" WA= aev@ia tfaee Moy 3R 95 SHard 2012 78 U0, Sl
FHIBEES! & 96l =l Tl ?
(1) TS IES FIOIIET HagHr=Al feaama
(2) o1t sifqe Srvare AREIGT FagHi=n feagraed

(3) frasumm=a wql weEdEE

(4) TALHTEAT feauTIREA AaHISl aRETEd

Election Commission banned exit polls during the elections to five state assemblies in January
2012. For what period were they banned ?

(1)  From filing application to polling date

(2) From the finalisation of application to polling date

(3) For the entire period of elections

(4) From polling date to the counting date
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143. GOOTH! HIVT S Wigm Yafis = q@ (Fofarget T Svaren sfysrmEe) gim ?

1) W SgShe (2) A9 & RS

(3) el sifeetd ReH (4) ifew W fae fan

Which following Latin Maxim provides the principle of natural justice of right of
hearing ?

(1) Res Judicarta (2) Nemo quat natural

(3) Audi Alteram Partem (4) Justice res sit rea

144. gET 3 3 gt  Aefio S o

e (31) e ()
(a) YR STar 98t () e o e g R
(b) wRdE T FHE () oife e T g whw
(c) YR WraETel u&l (iil) WRAT HFTR
(dy Fag (iv) YRA AN WY

(@ () (o (d)
1) Gv) @@ @) (i)
@ @ @) @Gv) (@@
(@) @) (@v) (i) ()
@ G @ @O )
Match List (A) with List (B) :

List (A) List (B)

(@) Bhartiya Janata Party (i) Indian National Trade Union Congress
(b) Indian National Congress (ii) All India Trade Union Congress
(c¢) Communist Party of India (iii) Bharatiya Kamgar Sena
(d) Shivsena (

(@ (®) (© (d
1 (v) @ @) (i)
2 @ (@) (v) (@)
) () (v) (@) ()
@ @) @) @ )

iv) Bharatiya Mazdoor Sangh
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145. HRRTie fNeg TRy 190w faviy o sifyer HIvR Rd ?
(a) T Yok
(b) WIHT HEHSEISG HY/ IR
(c) Ul TS /3T

(d) o "oy

Tty ST

(1) (a) S0for (b) (2)  (a) O (d)

(3)  (a), (b) ¥ (d) @) (@), (b), (c) o (q)

Which of the following are the special taxation powers of Zilla Parishads in
Maharashtra ?

(@) Stamp Duty

(b) Cess on Land Revenue

(c) Cess on Water rates

(d) Forest Revenue

Answer Options :

(1) (a) and (b) (2) (a) and (d)

(3)  (a) (H) and (d) 4)  (a) (b), (c) and (d)

146. T, HETH %5 F% (AIR 1970 S.C 150) =1 GTAHEA WSGIh! HI0Tar T & ?

(1) Si7 i e 2) Sufse varu@
(3)  forog garaT (4) o =

Amongst the following which issue was involved in A K. Kripak Vs. Union of India (AIR
1970 S5.C 150 ) case :

(1) Pecuniary Bias (2) Personz;l Bias
(3) Subject Matter Bias (4)  All the above

147. TEE FEd St STI0Y FE Ahd T A1 fovg fa9 =Aeredme o, Sl o SRt STrEr

yideY FEENSE GY WIRE AT AfUHR 3R,

(1) W g (2) fra (@) T (4) weF
Special Court Under SC and ST (Prevention of Atrocities) Act has power to pass an order
of of a person likely to commit offence.

(1) Injunction (2) Suspension (3) Externment (4) Arrest
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148, 9T GUET FHET 1872 =1 FEH 123 TIR YHINE 7 ST IEH I SRAGA Naigae] Rl
Qe WA 8, Sl foher Heia fasmwe
(1) H I TN Q3¢ ATl TR HS
(2) YET TEE ORS
(3) TRATT I WHd R
(4) TENE TR Al
While granting permission regarding evidence derived from unpublished official record
U/sec. 123 of Indian Evidence Act 1872, the officer or head of the department
concerned : ‘
(1) Shall give or withhold such permission as he thinks fit
(2) Has to give permission
(3) Can not give permission
(4) Permission is not mandatory

149. GEi@YH! Hiven =Ared fFofmgR yrefae € seiEr 9 T d wiqae Har o1 ?
(1) F T Q) TreET e
(3) HYUIHT YR e 4) o faeg YA s
Which of the following judgements stated that Preamble was not a part of the
Constitution ?

(1) Berubaricase (2) Golaknath Case
(3) Kesavananda Bharati Case (4) Bommai Vs. Union of India

150. WRdr Gl yraifashde ‘qeig’ 91 GaHeqiqT Trotots! S ot g ?
() T g WRd a3 Frra folg O wedl 9 | FF .

(b) | 37 Hew T < e AR,

(c) YRArET €9 T YUyl TR & wehdl.

(d) wRAT YR U IR HIhR HL0ArH SR e

I IW

(1) (b (c), (d) 2) (@) ®) (9 3) (@) () (d) 4 (@), (), (d)

The term ‘Sovereign’ in the preamble of the Constitution of India subscribes to which of

the following meanings ?

(a) India can make and unmake any decision with respect to itself without any

interference from outside

(b) Union and states both are sovereign

(¢)  Union of India can acquire foreign territory

(d) Union of India has the power to cede parts of national territory

Answer Options :

1) (®) (0, (d) 2 @, ®)(© 3 (@) (9 @) 4  (a) (b), (@)

-00o0-
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@®) vgfsae fafeq woca fafire Srie =9 19 (36 96) =&, FEYHAfaNEd SWAHat a
TR HICER Hed HH HeA™d d HIA FOIAT TIH $o A6, W THS RS 9 AR SHEIRET
I SR hosedn  wleied B Ry Ril Yiasiy sRvarere dfafem-g2"! Ao RaETaR HRar
FOAT AL I QI K FHIS Tk FUr=AT FREmErE nfvy/faar 398 T g9 WhH=A Sor= fiem
4 BEe.

©) TR FTUAHER SR fafed FOH Jo FoeaHa SUTTRS B JTNIehT T sIe) TR el
U S0 WA 3R, WA THEIT heITared ATUaTge| SHEaRM SITUedT SAuisreh el |- 1
AT S 7 [qU@ar uid ST avash e

TS ShHih

Y. . 201.

RS IR
201, HAIE! A T HIOITES! hIvl Hod: TI hes ?
1) T g Wl @ 3vEER TR
@) I TR W @) TITSFHW TES
YR A W (3) TSN THERA ' A9 TR, WM 1 g SO (3)) BEe. Ad
WIAHGTATIT T 6. 201 FARS SW-shAi *(3)"' ¥ Ides qUiT0 Brffhd wet ol v
IR,
ONON RO
M IS T TTYIEha e TE JeAMET qHEl SUGRHIE 8GRl @aeial qiasesn

IRYTFRE 1 N FHSHAREIS Hafyd age Ot SHifkd w1 qrgamdl.  giehRiar
e THTedl IS iU arard, Ufe a1 yge o9 arue =4,
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